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=) =) Hyperbolic arc cosine of x (ACOSH). ] X
=) =) Hyperbolic arc tangent of x (ATANH). ) X /
(Y ) (= )
(X
y x @) (%] Yy Wx
% x (&) (yv=0) . x y
.$15,76 % 6
FIX 2
(&) (DisPLAY) () (1F 1)
(2]
15. 76 (5] (7] (6 (ENTER]
%6 3.55 D@
% 6 + ) 16.71
(




.$16,12 $15,76

16,12 (1)6]-)(1](2](ENTER]

%2,2 —2.23 (W0 1 |8 (A A< ]]
'
FIX 4 -2.2333 (=N (DiSPLAY) (T )(1F 1)

@
.%CHG
|

l@




=) .CONST 41
CONST

299792458 ms™' | Speed of light in vacuum C
9.80665 m s=2 | Standard acceleration of gravity |
6.673x10 """ m2kg~'s? | Newtonian constant of gravitation G
0.022413996 m3 mol-1 | Molar volume of ideal gas Vm
6.02214199x10 2 mol-1 | Avogadro constant HA
10973731.5685 m~! | Rydberg constant Roo
1.602176462x10-19 C | Elementary charge ev
9.10938188x10-31 kg | Electron mass mE
1.67262158x10-27 kg | Proton mass mF
1.67492716x10-27 kg | Neutron mass mn
1.88353109x10-28 kg | Muon mass .Muon mH
1.3806503x10-23 | K-1 | Boltzmann constant k
6.62606876x10-34 | s | Planck constant h
1.054571596x10-34 J s | Planck constant over 2 pi .pi 2 "
2.067833636x10-15 Wb | Magnetic flux quantum 20
5.291772083x10-11 m | Bohr radius 20
8.854187817x10-12F m! | Electric constant go
8.314472 J mol-1 k-1 | Molar gas constant 2]
96485.3415 C mol-1 | Faraday constant F
1.66053873x10-27 kg | Atomic mass constant u
1.2566370614x10-6 NA-2 | Magnetic constant Mg
9.27400899x10-24 J T-1 | Bohr magneton HE
5.05078317x10-27 J T-' | Nuclear magneton HH
1.410606633x10-26 ) T-' | Profon magnetic moment 9]
-9.28476362x10-24 ) T-! | Electron magnetic moment HE
-9.662364x10-27 | T-1 | Neutron magnetic moment un
-4.49044813x10-26 J T-' | Muon magnetic moment Hu




2.817940285x10-15 m
376.730313461 ¢

2.426310215x10-12 m
1.319590898x10-15 m
1.321409847x10-15 m
7.297352533%10-3
5.6704x10-8 W m2K*
273.15

101325 Pa

267522212 s7'T”
374177107x10-16 W m?
0.014387752 mK

7.748091696x10-5 S
2.71828182846

Classical electron radius

Characteristic impendence of
vacuum

Compton wavelength
Neutron Compton wavelength
Proton Compton wavelength
Fine structure constant
Stefan-Boltzmann constant
Celsius temperature
Standard atmosphere
Proton gyromagnetic ratio
First radiation constant
Second radiation constant
Conductance quantum

The base number of natural
logarithm(natural constant)

Ve
Zo

AL
ACnh

ACP

atm
TP
cCi
cz

Peter J.Mohr and Barry N.Taylor, CODATA Recommended Values of the

Fundamental Physical Constants: 1998, Journal of Physical and Chemical

Reference

Data,Vol.28, No.6,1999 and Reviews of Modern Physics,Vol.72, No.2, 2000.

ENTER

) [(CONST

Cursor
(BX) (CONST
)




Shift
Shift

ALG .RPN

T -N 180¢ -180¢°

10 -4

gradients  radians
) hexagesimal

. kg/lb cm/in)

-°F

(%) (r.)

.grads 200 -200

- —

HP 35s

radians



) .RPN D@ (18r8a) (@) (F=tw) (&) DSPIAY)
(@ (Llxtwi
rm\Ee]a xMyxEydd)
y X
o
10 r
Y 4
A 0\
X 3
/ (MODE) (1)(1 DEE)
(&) DiSPLA) (2] (Fbew)
xiy ( )roa 8.660345. pees (1](0JI=) 6 ](3](0]
( ) ENTER

11 -4



/ 16. 0006030 . ooaa () (DSPIAY) (](0)

(18rBa)
roa  ( )xy 5.8886053. 1301 (3] (i](4)(ENTER]
L)
ohms 77,8 RC P.C. Bord
capacitive reactance X R . 36,5
r
Xc ,y ohms R x . o
. ohms
R

Q
%
L2
&
§
:

/ (MODE] (1)(1DEEG)
(E=N) (DISPLAY) (9] (Fiw)

0 77.80-36. 5 E @]
. E1el5)
ohms
R X 62.54814-46. 2772
.ohms
ohms y

reactance, X¢

12 -4



hexagesimal
D.MMSSss hexagesimal
MM ddd...
SS
=] (Hms =) /
FIX 6
.FIX6
7/1 8. BEEEee8
B 1s7
34,29 8 B . BEB8EaE
H.B023429
CEIX 4 . BEaEEaE
H.B@8534
, X
.radians

D.ddd...

HP 35s

SS

&) (=EMS]

7/1

() (BPLAN) (T)(1F %)

el

L@@

=) (=HMmS)

() (BPLAN) (T)(LF 1)

X

(4]

radians

13 -4



‘radians

.1t/6 radians 30
@, BEaa 310
38.-
.radians .o [E=9)(=RAD)
B.3236
0.5236
.t/6

HP 35s

—kg, =lb, =»2C, =»2F, =cm, —in, |, = gal, > MILE,? KM

@. 4536 (kilograms) ( ) | ME =) kg 1lb
2.2@848 (pounds) ( )| O=En o 1 kg
B.8888 (°C) ( )| B@AmEEd °C 32 °F
212.0088 (°F) ( )| @@ (=F) | °F 100 °C
2.5488 (centimeters) ()| DE D cm 1in
39.3781 (inches) ( )OO | in 100 cm
2.75854 (liters) ( )| mE=D | 1 gal
@. 2642 (gallons) ( ) | (&) (=) gal 11
1.6@33(KMS) ( ) | M=) KM 1 MILE
8. 62 14[(MILES)] ( /)| Q) =) =MIE MILE | 1KM




Factorial /
x (0 < x < 253) /
( ) @ [0
Gamma
x! .3 (x =1) I'(x) x
X .T(x+1)
/
/
r =) n r n /
/ ( )
r
)r @) &p]) n r n
r (
/
.= / X
) @3 0<x<1 /
Knuth

The Art of Computer Programming, vol. 2, Seminumerical Algorithms, London: Addison Wesley,
1981.

15 -4



16 -4

.SEED

24

[

134.59%6 . 0E8a

2.883 . 8868

134.59%6 . 0E8a

B.8223

RANDOM

10 14

(2] (4] (ENTER] (6]
=)

CCa)(ENTER]) (6]

&) (nCr)

=



) EIITGI(8]) (51F) X

.(14.0000  14.2300

/

) ENINTG) (5) (SFF) X

.(0.2300  14.2300

v

v

(=) X
r r0a / 1
2
oty Xiy / 2
2 2 2
\/Al T A At A, :|A| [A1,A2,A3, ...An] 3
.[E)(ARC]
a rba 1
Atan(y/x) xiy 2
v
, X B [NTG) (T)(156H) X
1.0000 0.0000 -1.0000

17 -4



18 -4

2. Baan

B. 4780

Y. Baan

1.0880

—& . BE0E

@IUMZE=(INTG) 6] (EIF)

QUM EZE=)(INTC) (5] (SFF)

@A m=E=)

@& INTG) (1] (156H)

GGt INTG) (4]

(4IMTE)

RND

. EINTG) (4] (4 INTE)

2,47

2,47

70

5,3 -

(=) RND) )

(

12

v



LEME)

RDN

KN
/
8/5 @E3E 8/32
L0EIAE
.[/=3) (EDIsP)
/
/
RPN /
/ /
[>]]
1,5 112 MEOE) ETER)
4131 13-4 WOEIQM
X 1.7508 =)
X 13-4 =)

1-5



12

4095 /

12



2 3-8 2.37500000000 2 3/8
14 1532 14.4687500000 1415/3,
4 1.2 4.50000000000 54/,
a9 345 9.60000000000 6 18/5
2 546 v 283333333333 34/,
B 7-3523 A 0.00183105469 15/8199
12349733 12349793.0000 12345678 ]2345/3
16 14895 16.0001831055 16 3/16384
v A
12
12
12 v
%0.5 / -
12 A
90.5 / -
A —
n / v mn n
Yo7/16 07/16 Ao 7/16

~

—

/

n ' r
1

a

6 6.5 7
/e Ne e

(0.43750)

75 8
Ne e

(0.46875)



5 A
" 33333/, B3I SA 2/,
/ -8 3-54A -2/5 3-8
3
2 2/3A 2 %/,
12
12
12
/
/
/ n
/
/
c ab/c
- / c
( ) /



.4095
=) (4] X /c
4095 O)&) (4] 4095 /
/ /
X /c
.LAST X
.»
=] \cd
_[SHOW =)
3025 /
/ C1U@AE=
.3025
B WmEey]
126266488831
/
&
25
/
B (4] 1 ALG /



/c ALG /

2 .= (4] 2
/
J/c
"INVAL IOQDATA"
/
/
/
/c /
/c ) / /
/ / .(4095
/
/c /
_(8/C )EFFHEH 53 1.4
.12 6 4 3 2 / 12 /c
/
- / /c
(60 /c ) 125768
9 87 / . / flags /
( ) /
= clear on = set . 7 /
.off
. Jc /c 8 /
./c = set = clear
8 / 9 /
= set = clear
9 8 /



(14

/ /
9
/
/
9 /
/
/ (&N) (ELAGS]
press (1)(15F) /
/ 2)(=CF)
/ BI(3FE?)
. HO  YES
/
8 /
/c )25 ] =)
/
a (< ]]Ed]
.8 3Q1E-113
.8 / a (&) (FLAGS) (O)(15F)
3Ql16-819
819*5=4095
/ 9 Ba- 48395 (&) (FLAGS) (1)(15F)
/ 35204895 @]
8 (&) (FLAGS] [2](2CF)
) / 30187113 (B)&W) [FLAGS]) (2])(2
CF)(2)



Jc / 2.77
2.77 /
/c=16 /c= 4095
210/13A @72 |277/100 27700)
/
23/4A (27500 1 2 1051/1365A  (27699)
212/16A (275000 | 2 3153/4095A (27699 /
/c /
16
* /
216/95 2.9999 22/4 2.5 2
29/14V | 3V 22/3A 21/2 |2
25/8A |3V 211/16¥Y | 21/2 |2 /
210/16A | 30/16V 211/16¥ |28/16|20/16 /
16 /c *
X RND /
/ /c
/ 9 8
-( n n

RND



/16

56 3/4

(&) (FLAGS) (ENTER

W)= ()
) - 116
9
56 34 H [ ]E e
=) E0) D)
9 7/16 97-16A e1=]
9TFANE =)
56 5.8 )
-8 1.8 Rel (@] =)
/ -8 1.5 &) (FLAGS])(2])(2CF)(8)
/ -8, 125@ =)
)



10 -5

/c

INPUT

.14



16

7

HP 35s

8 ). .

V=.257zd2|

W2EENR) &) X)(2)EEE =] x]
N 78,5398) (21/,) 2,5
- " " HP 35s



E@MN[LISTTOR

.EQN o
RCL
A..Z
RCL W= MEE]
Y=@.25 J2105)
Y=@.25xqx.  EEX)
Y=@.25xgx0~ 2. RCODIFI2)
Y=@, 25 =0 2xl.
V=@, 25ugub2xl ENTER
CK=49CA =)
LH=14
D (V )
/ 07 ENTER
value
/
D
21/, D% i | 0 [ [
2 1.2
D L?
valve
L W= (M RS]
78.5398



7

8

XEQ

SOLVE

&= 1

=]

Cdor 21

= <Jor /@2
or ]
B[ ~] or @[]
(&) (sHOW]

(&) {unDO])

13




()

(E=¥) (UNDO

(" z A

RCL

RCL

EQN

(14



8 2 / /

ALL / . 16
12
]
. (E]
! . HP 35s
n n G n
n - n n + n ™
n LN 1 n COSII n
- /
/
&=)(0] , .



n / n ) .
r=2xcx(t—a)+25
V=8, 25xgx0"~2xL
R=_ RELRIE=N(=)
.R
R=2_ @
R=2xCx_
R=2xCxil
/
/ REL) (TJ(=](RCL)(A)
=zxCx(T-AI+ 25 ) H2)5)
R=2xCx(T-A2+23 ENTER
CK=3ESF =)
LH=14
/
)
3*3 lin. Solve  2*2 lin. solve
. EQN / A



14

EGHMLIST TOF

R=2xCx{T-A»+25

R=2xCx(T-A>+25

=2xCxCT-AI+23

EGH LIST TOF

14

/

@] B\

[EQN]
ENTER



(1]32

. 3*3 [in. Solve

2*2 lin. solve

. 3*3 lin. Solve

/
)
(e (coxsD)

(=) (MEM)

(@

(@

(ECER

(.]]itelelle

=) BAsE)

’=)(x20) [(FLAGS] [(x2Y]

) ENTER

)

(&) (DISPLAY

=) (SUMS

(-]



=
/
CLR .3)(3E@N) .EQN  /
() . EQN? Y M
25
E=2xCx(T-HAX+25
=2xCxCT-AI+23
.25 =2xCxCOSCT-AY_ =1=1=]
R=2xCx(T-A2 ENTER
/
HP 35s
n - n / n
/ X2+y2=r2
A=05xbxh
X3 + 1 . n - n ™



(8 7
n - n /
.XEQ : HP 35s
/ XEQ
- /
ENTER

10 -6



XEQ
glx) - (x g(x) = i)
x2 + y2— 12 x2+y2=r2
y - f(x) fix) * y = f(x)
A-05xbxh 05xbxh* A=05xbxh
f(x) f(x)
x3+1 x3 + 1
A
" n ) .
(
/ ) - XEQ) [ENTER
/
.R5s) /
' )
.( n
2 IMTERRUFTED . [R/s
X
ENTER
) ENTER
( - ENTER

11 -6




ENTER

20 63

V=@, 25xgx0"~2xL

sy

52 D

.16 15

v o
19,242,255, 8033

13,2423

AV )

XEQ

12 -6

S~

. XEQ

ENTER

;

(EQN)
as required)

—

ENTER

B1BEIRS

@x]0]e]o]
(0] (ENTER)

HEEE)

XEQ



XEQ

535
V=8, 25xg=0~2xL
Wy XEQ
12,242,255, 8833
.D . \" o R/S
33
.L . D L? G15E50®E)
20 . BEE
L -353.785.7051 R/S
/ —
-B.5537 EME®G)
ENTER
- ( D ) v )
/
EAr=ER=1c151")
@ O
(14 ).
.R/S

13 -6



X
R/S

209 5 RPN / 2 5

2 ENTER ALG /

2 <[ENTER]
X <]
/
.[E) (SHOW
X RPN /
R/S X

14 -6



CH+1D Parentheses /
SINCH+L) Functions /
Wz Power ( )
-A Unary Minus ((Z4))
WxY ATE Multiply and Divide
P+, A-E Add and Subtract
B=C Equality
/
ax (b3) = AxB~3=C
(ax b3 =c (AxB)~3=C
a+(b/c)=12 A+E+C=12
(@+b)/c=12 (R+B)+C=12
[%CHG ((t+ 12), (a—é))]2 HXCHGC(T+12.A-62~2

15 -6




.RPN

16 -6

SQRT SQ
[ ABS
ATAN ACOS
ATANH  ACOSH
XROOT  %CHG
nPr nCr
=N -CM
)7 X
b m
=Xy Zy2
. nPr nCr
RPN

ALOG
RND
RMDR
ASIN
ASINH
—>HMS
KM
—°F

oy

*x2

RMDR IDIV XROOT

AROOTCR . =82

Y X

EXP LOG

FP IP

IDIV INTG

TAN COs

TANH COSH

HMS— —RAD

= MILE —GAL

-°C — LB

RAND ARG

x -

o X sy

y X

Zy X
%CHG

nCro28.42

XROOT
—8(ENTER])3 (7]

28(ENTER] 4 [&=¥) (nCr]

v



RPN
sQ 2
SQRT &
EXP o
ALOG 1ox
INV 1/x
XROOT W
N yX
DIV INT=
1
a+b+h(——+—
sinf sing
a
h
0 0
b
:HP 35s

17 -6

HCHG (-3 —2)

HCHGCE  C=%22



SN

P=A+B+Hx(1+SIN(T)+1-+SIN(F))

avi

IMWCSTIHCT 22 /
INV / ) INV " ! SIN AFSINCT
(13

P=A+B+Hx CIMNVCSIHCT 2 2+ IHWCSTIHCF 2 20

n
1 ,cos(z/n) _
4 sin(77/n)
d
27/n

A=8, 253xMxD"2xCO0SCg+H I +SINCg+H2

18 -6



SYMNTAX ERROR

HP 35s

13

() SHOW

SHOW

( as required)

B.25xgxD~2x=L

W

(hold)

(&) (SHOW

43CAH

Ck=
LH=14

19 -6



20 -6

V=A,25xgx=0"2xL

(release)



ENTER 6
SOLVE
x2-3y=10
X X SOLVE y
y SOLVE
Markup x Cost = Price / = X
SOLVE
X
/
( / )
/ : 1
. 6
[>]] X . [>]] 2
X

/ 3
R/S .



HO

) &S]
(6
.R/S)

d=vot+1/2gt2

" SOLVE

0

) D

REOOT FOUMDO

SOLVE



/ (’I3) (CLEAR] (3](3ALL)

(7)

/ 3#3lin.gsolve
EQH LIST TOP

ReL) (D] &=)(=](RCL

O=\x=T+_

@=VxT+0. 5x6xT~ 2_[](5](X] RCL

RCL (2]

D=MuT+@ . SxGxT2

CK=FE3C (&) (SHOW
LH=15
(32.2ft/s2 9.8 m/s2) (
/ 5
:D
SOLVE [13) (SOLVE
D Y7 ]
vV valve
V T? (0)[R/S
T value
T 5 G? EIRS)
G valve
G 98 SOLVING IIBIRsS)
0=
.D 122.5080
500

) g



D=MxT+8 . SxGxT 2

T o7 (/=) (SOLVE]
122.5
.D
D 500 W7 (510]0]Rs)
5]
vV
G?
G v 7E
G 9.8 SOLVIMG
T=
T 18.1815
(moles)
PxV=NxRxT
R moles N ( ) (N/m2 ) P
K=°C + Kelvins ) T (8.314 J/mole-K 5 0.0821 liter—atm/mole—K)
(273.1
/ Pac_ (EQN](RCL](P](x]
ReME&=(=)
Prb=MxRxT_ (RS R)XJRC (M)
FPxM=H=RxT ENTER
CK=EDCH (&) (sHOW]
LH=5
24 moles 0,005
/
:P



(Kelvins )T

T 2971

W
w3 lue

M7
w3 lue

R
w3 lue

T?
w3 lue

T2

297 . 1088
SOLV I MG

P=
B.8c1@

18 atmospheres 0,05

P 0,05

)T

.(Kelvins

T 2911
.N

.N x 28

(

PxM=HxR=T

P
8. 6510

L
2. 0aaa

R?
a.0321

T
297 . 1088
T2

291, 1088

SOLVIMG
H=
B.8185

@.z2929

=) (sOwvE) (2]

2)RsA)

OBEIRE)

LIRS

@WH2AEIE
() ENTER)

28 N x 28/V)

(/=) SOLVE

)BE])RS)

EIRsA]

v

EIENTER]) 2)ZE)
(K8 (51 [E3)

R/S

@EX®



8388 ke M=)

( ) /
“3*3 lin. “2*2 lin. solve” (Ax+By=C, Dx+Ey=F) : /
.Solve” (Ax+By+Cz=D, Ex+Fy+Gz=H, Ix+Jy+Kz=L)
A ) 12 2*2 (F A ) 6 (I=3] (SOLVE]
Zy X 2%2 Y, X 3*3 (L
.Z Yy X .3*3

x+2y=5 }
3x+4y=11

/ %3l in.gsolve
EQNOLISTOTOR
EQNLISTOTOR
2¥2lin.=salve
A A7 ;=) (SOLVE]
value
A 1 B? WIR7s]
B value
B 2 c? 2) R
C value
C 5 o7 BIR/S
D value
D 3 E? BIRss]
E value
E 4 F? (4] [R/s]
F value
F 11 W= &+ ORSE
v X 1. 6688 3



2. 0068 'l
SOLVE /
SOLVE
( ) SOLVE
SOLVE
SOLVE
- SOLVE
PxV—-(NxRxT) -
/
K " SOLVE Y.
WO ROOT FHD SOLVE
.SOLVE D
/
SOLVE
( ) ( / ) X -
( ) Y u ~/
X
Y X /
D ) Z -V



((

SIMTERRURPTED”

MO ROOT FHD
Y
Z
R/S
&) VEW]

SOLVE

SOLVE

) X



d=vot+1/,gt2

D T
T
y=t+logx
(HOROOT FHO )x<0
80 40
) . 7500



10 -7

T
Hl Y Y
I L __
| |
I |
| |
404}24 : :
| |
| |
o __ - — —
I |
H
L A A
e—HI 802H I H—>
80
\Y .(40 - 2H) (80— 2H)
V=(80-2H)x (40-2H)x H
V=(40-H)x(20-H)x4xH
/ V=_
ReVI=) (=]
01a]e]=]
V=04B8-H)
xJ01(2]e]=)

CAB-HIxC(28-H)
Hix(za-HixdxH  X)[@XIRSOH)

W= 4E—-H i ( 28-H

CK=452R4
LH=15

(&) SHOW



20
20 10 . 40

/

]3] (510) (H]
28_ (ENTER] (2] (0]

W=C4B-H 1 28-H

Vv H W7 ;=) (SOLVE]
valve
v 7500 H= 7130 RS)
15, 88848
.H
(z ) (Y
15, 88848
/
Z . Ba6E
20) . 15 x 10 x50
— 42,0256 40 30

11 -7



- 2,9774 10

X X - xEQ)
H 7500 Vv /

7500 — (40-H) (20—-H) 4H
A
+ 20,000

|

1
L
o

SOLVE D
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b a flx)

1= ]2 (x)dx

f (x)

fix) /
/ flx) )x=b x=a

C(FH 4]y G




=] )

MEMOREY FULL

SCI FIns

A

(I FN)

/ (6
ENTER
EQN)
=) (]
2
ALL /
Y
R (RY]
.2
1

" IMTERERUFTED

/ EHNG

.Bessel



0 / Bessel
1 ¢x )
Jo(x) = —j cos(x sint)dt
7[ o

3 2 x Bessel

cos (xsin t)

/ (=) (CLEAR] (3]
(FALL)(Y) ENTER

243 lin. salwve
ERH LIST TOP

COSCRD
COSCHRSINGD

COSCHRSIMNCT )
COSCHxSINCTIY
COSCHxSIMCTYY  (ENTER

CK=E1EC (&) (sHOW]
LH=13

/

X=2 7 t
. Radians (MODE] (2] (2RAD)
3.1416 (0] (ENTER] (=)
(

COSCHxSINCTD)
[FH d_ =1

X %7
valve



x=2 INTEGRATING RS
I:

K ft) a.7034

v
Jo(2) 8.2233 & @EE
Jo(3)
.TC
v
31416 (o) ENTER]) (=) (7]
)
COSCE=SIMCT Y
[FH d_ [<.1|WA]
W
2. 8888
x=3 IHTEGRATIHG
p =
Io f(t) -a.8178
v
Jol3) -8.2601 =@ E
( )
(

S0)= ) ("X)e

X

Si (2)



DIVIDE BY @)

(t=2)2

.Radians

Si(2)

3¥3 lin. solve
EGH LIST TOP

STHCED

SIHCRHY

SIMCKEI TR
SIHCEY+E

CK=BEE&
LH=2

SIHCEYTE

IMTEGRATIHG
j:

1.6854

(EQN)

(SIN] (RCL) (X]
=1
ERaX]
ENTER

(&) (SHOW
<)

(MODE) (2] (2RAD)

(0] (5T0) (X] (ENTER
(2]

&) O



(ALL

0.0002

ENG SCI FIX)

(7 /

1.6054 + 0.0002

si(2)



)

SCI 2

1.61€E8B

B . BEEE
2 BEEE

STHCEY+E

IMTEGRATIMG
_[:

1.61E8
1.61e-2

ftx)

SCI 2

(&) (DispLaY) (2]
(@scn)@)

&) x

.1.61+0.0161



1.6@873E-2 (&) (DiskiAY) (2]
/ (25C1)4)
8. BEEBES
T 2. BEEPER
Y
SIMCHI+H
INTEGRATING @)X
J':
1.6@54E8
/ 1. 6A5EE-4
1/100
/
SCI 2
.FIX4 8. 8082 OsPAY) (1] (25C1)(4)
/ 8.8802 (MODE) (1] (1DEG)
HP 35s



(sin, cos, tan)

( 22 21

HP 35s

welew vl wHEO,

(+ x - +)

z2
y.ez Inz %7 1)z -z

CALG x+yi

Wy

Wi -

Ko -

3 &)

RPN /




RPN . 2 1

——————————————————————
______________________
——————————————————————

3 X1iY1

rl X1 rl1fal

3 X2iY2

r2 X2 r260 a2

ALG /
.RPN



[~>]]IN)
=)er)
/=) (ABS)
[&N)(ARG)

ez /

ABS(z)

ARG(z)

z2 71

4

Z3

ECRERINT

Addition, z7 + z2
Subtraction, z7 - z2
Multiplication, z7 x z2

Division, z1+ z2

Power function, Z,*2




@i3) /

O (2] (3iv)

9.1545 j - 2.15454-4. 1629 (2)0]3EBIEN)
. 4.1689

z 1+(z2+23),
z21=23i13,z2=-2i1 z3=4i-3

(BN O (9] (%)

21 23.00004.13 . eeaa  (2)J3]] (1] (E](ENTER]
23.0008413 . PEAE
22 -z.0@0041 . 0008 (2JCA)C](1)(ENTER)
-2.00084.1 . 0EAE
2i-2 (z2+23)  2z.eeeedi13.8ee0 (AEIEAED
2.00084-2 . BE0E
2.5i9 z21+(z;+23) z.5o@04i500a =

(4i-2/5)x(3i-2/3)

&) (DSPIAY]) (9] (F=1w)
4i-2/5 4.@p004i-0. 4808 (4] ](J21EIEA

4. 08081-0 . 4060 ENTER
3i2/3 4.@e004i-0. 4808  (B1](J21EIEA
3i-@ 2.3
11.7333i-3.8667 11.73334-2. 8667

-2
z=(1i1) e’



1i1

1.800641 . 8884
1.800641 . aaaa

GO ENTER]

0i-5 Z-2 @.@e@edi-5.@pe0 (210405
@.87761-0. 4704 (B@(eY]
0.8776 i- 0.4794.
/
/
imaginary
(a, b)

r |

N :
» real



L2 1851b~ 62°
170 lbs 143° Ly
X
L3
1001bs 261°
(MODE) (1] (1DEG)
(=) (DisPLAY] (-1 (0]
(18rdEn)
L 185 . BEBBOEZ . BRGE WelE]mEe]
185, BAEA0EZ . AEAE Le](2](ENTER]
Lo 170, 80060142. 66, .. (1JZJ)O])@E=)(8]
170.60080142 . aopmy  (1](4](3](ENTER]
Lo+ L3 L 185, QEAROEZ . AREE (WJo])e]FE) e
151.45290172. 6cam  (2])(e]00](£)
Ly + L2+ 13 175.93720111 . 1450
@ [~>]]N!
/ /

. LDISPLAY

1i1+36 10+56 30



(MODE) (1) (1DEE)

/ (=) (oisPiAY) (-1(0])
(18rHQ)
1i1 1.4142045. 6884 MG) O] (ENTER)
1.4142045. 6E06
3010 2.08868018 . AAAE im0l
3. 0066016, BE6EE ENTER
5630 1.4142045. 6866 GlmEe]E]0o]
3010 7.8861022.5241
1i1 9. 28238025, 98982
9.2088 0 25.8898
rfa  xiy
/
. ALG / /




1i2+3610+5630

(ALG ) :

Fo@l LEL F

Fopz 142+38168+58348

FBE3 ETH

INPUT




10

/
=)0 1
2
.3-D 2-D =] 3
.3-D =] A
HP 35s
"IMVALID DATA"
N
) 2
3



[1.5,-2.2]+[-1.5,2.2]

(MODE] (5])(SRFH)
) RPN
(
[1.5,-2.2] C1.5808.,-2. 2680681 =G
C1.56880.-2. 26607 1A @E)
(2] (ENTER)
[-1.5,2.2] [1.5868,-2.26800] [>]]Hil]E2A [N N
[-1.5.2.21 GB)E2132)
8. BE60
[H. 0860, 3. AEEE]
[-3.4,4.5]-[2.3,1.4]
(MODE) (4)(4ALEG)
ALG
[-34,4.5] [-3.4.4.531_. @E@JEAIEI]A)
&= ]AE]
[2.3,1.4] @3.4,4.51-[2.3.1.4] D@)J2AE)
&M
[-3.4.4.51-[2.3... ENTER
[-5.7008.3. 18607
=]

[3,4]x5



.RPN (MODE] (5])(SRFH)
[3,4] [Z.0006.4. 00081 (@)1 E)EN 4]
[3. 8860 .4. 36061
5 C3.066868 .4, 0688 ] 5]
5_
8. BEaa
C15.8886.20 . 886867
[-2,4]+2
ALG (MODE] (4] (4ALE)
[-2,4] C-2.41_ mEMEA2)E)
@
5 [-2.41+2 =2
[-2.47+2 ENTER
[-1.66888.2. 068881
n ABS"
A=(A1, A2, ...An)
JAZ + 47+ 47 |4
=) (ABS) 1
2
ENTER 3
:[5,12]
RPN 13 .[|3) (48s) /@) (1] (5] &) ) (1) (2] (ENTER]

.(MODE) (5] (=R FH) @) [ B & 1 (1 (2) /=) (485)



DOT
"IMVALID DATA"

[A, B], [C, D] :2D

[A, BJ[C, D]= A x C +B x D
[A, B, X], [C, D,Y] :3D

[A, B, X]'[C, D, Y]= A x C +B x D+X x Y

y
2
3
4
.n n n n
17
(3,4] [1,2]
ALG (MODE] (4](4ALEG)
(1,2] L1.21.  BAEC]@)
[1.2Ix[3.41 (X]@EDEIE]
(4]
11. @668
11
[2.2] [9,5]
.RPN (MODE) (5] (SRFH)
[9,5] [o.@868.5. 686081 )& ]1E)
[3. BEGE .S, BEEE]
[2,2] C3.ebaa. 5. 600l @) 12N ]2]
[z.21
28 . BEEE

.28



)|4|B| 6 = Acos(A-B/

A=[1,0],8=[0,1] :

ALG (MODE] (4] (4ALE)

(MODE) (1] (1DEE)

ACOS () (r=3) (ACOS]
A[1,0] ACOS¢C1.81> IO ]0]
B [0,1] ACOSCCL.8IxCe.11> (X)) 0)EC])
0 [P
B A
A[1,0] @:11+ABSCC1.80xw () @E)(ABS) @)1
W= ]0]>]
B [0,1] @l.81-ABSCCA. 10 (]3] (ABS]) (3] 1]
o= 0]
.90 ACOSCCL.@I=CE. .. ENTER
0000opp=e - easa
A=[3,4],B=[0,5] :

.RPN (MODE] (5])(SRFH)
(MODE] (1)(1DEEG)
g8 B\ 1M4)
28.|aaa  (ENTER) (|I@) (0] (0] (=)
—1Ex)
(3,4] 2a.0aa8 (@) EI&]]4)
5. @EaE =) (ABS)
[0,5] S.oeea @)1= ]05)
5. @808 =) (ABS)
26, BRAE

25, BRA6
28 =)

a.gea8
28 (r=3] (ACOS]

36.8699 36.8633



solver

1-D



[5,6] +2 x[7, 8] x[9, 10]

caeal LELQG

(5,6] GEEEZ [5.61+ 2 % [7.81 x[9.18]

GHEEE RTH



RCL

ALG
RCL
)
EeN) /| (0]

RPN

.[ENTER

/
=3 ALG
N[~ 1]HiN
MO
RPN [ C, REGZ, (J) ] /

.[Rcl) =) ] ENTER] (EW)(. ](RCL] (0] (ENTER
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/ (#=) (BASE]) BASE

(=) [ISGIC)) LOGIC

BASE
/ - / DEC
HEX . / HE ¥
RPN } /
.F A /
F E D C B A ALG
F A
OCT acT
/
BIN BIH
/
12
' ) |\x<] \]
.( n
=]
h

o

IIIDH

'nbu




125.9910

7oh - (1](2](5) =) (BASE)
16 (2] (2HEX)

.8 175c  (FE3)(BASE) (3] (30CT)
2 1111181 (F=)(EASE) (4] (4E1IH)

125.8000  ([§3)(BASE) (1) (1DEC)

) 14 . 24FF16

v
24FFh [2) (BASE) (2] (ZHEX)
X (2)(4)Ux]) (X)) Em)
(BASE] (6] (£h)

TR EASE) (4] (4B1H)
» 1681801111111 1w

) @t =]
10010011111111,

14 1aa1e811111111ep [@03) ]

/ 9.471.860808  (F3)(BASE)(1)(1DEC)



(1

h/d/o/b n- /
/
/
/
.2 16/10/8/2 /
/ ENTER
h/d/o/b 2 1
BC] \d

/ 16/10/8/2

ALG

ENTER

h/d/o/b

‘RPN

.16/8/2



LOGIC

n AND"
AND(1100b,1010b)=1000b :

" XOR"
XOR(1101b,1011b)=110b :

n ORH
OR(1100b,1010b)=1110b :

NOT(1011b)= :
111111111111111111111111111111110100b

n NAN Du

NAND(1100b,1010b)= :
TTTI11111111111111111111111111110111b

n NOR"
NOR(1100b,1010b)= :

TT111117111111111111117111111111110001b

AMD

HOR

]

HOT

HAMD

HOR

IIANDII, IIORII, IIXORII, IINOTII, IINANDII, IINORII

"IMVAL IODATA" ,
16 ,8,2 /
/ = X
&2 HEX /
/ /

/ 16 ,8 ,2

/




OWVERFLOW

12F16 + EQA14 =

16 / / (/3] [BASE] (2] (ZHEX)
HEX

FC3h (1) (2] 0) #=3) (B556) (6)
(6h) ENTER) () (2] (SN) (1))
[BASE) (6] (5h)

7760g — 4326g =?
/ / Fiilo [E3) (BASE) (3] (30CT)
OCT 8

24320 D7) E)0) 1) EASE)
(Z)(7 =) (ENTER) () (3] (2)
BE) 6587 (7o)2)

100g + 5g="?

X

140 (11(0](0)([FI=) (BASE]
(7o) ENTER] (5] I3)

@ (7e

=2
b

5A014 + 10011007 =?

/ / SABh (/3] (BASE]) (2)(2HE®)(5)

HEX 16 @@m@
(6h)(ENTER)

2 / 1881 1@@p (/D) (BASE) (4] (4EIN)

BIN W]l e]o]
/=)&) (5k)



ENTER

18111181108k
SECh (/3) (BASE) (2] (ZHE¥X)
1.516. BEAE (/=) (BASE) (1] (1DEC)
/
, /
- /
12) 36 : /
( 9
12510 ,
1111101b
36
000000000000000000000000000001111101b
( )
1 ( ) - (1)
( )0
’ 22zh  (5](4](e]) () (BASE)
(2] (2HE¥%)
( ) FFFFFFODEH F)31@E)
» . 11111111111111mp ([FI)[BASE] (4] (4EIN)



@liiliililliiaisp =]

@liallillée =]

-S546.6000  (F9)(BASE) (1) (1DEC)

/ / 36
11) / (36 ( 12  (
/
/ /
/
800000000h 7FFFFFFFFh
4000000000000 3777777777770
1000000000000000000000(0111111111111111111111
00000000000000b 1111111111116
~34,359,738,368 34,359,738,367
/ /
/ HEX/ OCT / BIN
TOOEIG JOOEIG



14 . 36

36-bit number . 36

1 AEARAREAEARARAEAEAEARAREREAREA0AREREE

\ )
y —

( ) & » , 14
(@] ®\))

@< =]

- »

18ER0AAEEERAAE |8EE0AAEEERARAEE|8EE0AREEE










12

HP 35s
( ) /
/ / .
(Y x) / / .
(y X ) .
Ixy Xy2 Ix2 Xy Ix n: .
L.R. X,y s, C SUMS

| |
N T
X y r m b sx sy OXx oy
| | | RN
X y X W n £x zy=x23syZsxy
/
/ ( )
/ (= )=
=) ([SUMS ) .SUMS (32 27 )
(m EZx Ew ExZ Ew Euw
/
(I72) CLEAR) (4] (43) ) |




ENTER

=) [[ASTX

(=) LASTX])

2]

X

¥3) (CLEAR) (4] (4 )
=] X

)

73) (CLEAR) (4) (43
(ENTER)
=]

R WN R



< 1| 1

n /
.=+ / .2
=)
X Y y ). (<]
y , (LAST X
.2
y X
y X yXx
20, 4 20, 5
400, 6 40, 6
/ (F3)(CLEAR] (4] (4E)
4. BEAG (4] (ENTER] (2] (0] (4]
1.8608
n £ . BEEG (6] (ENTER] (4] (0] (0]
2. 0066 ,
X €. 0860 (=) LASTx)
400 . BEAE
y
Y
£, BEEE ==
1.8608
£ . BEE0 (6] (ENTER] (4] (0] (=4]
2. 0800 ,
4., 0860 (4] (ENTER]) (2] (0] (=)
1. 6060 ’,
5. GEE0 (5] (ENTER]) (2] (0] (=]
2. BE60




/ =) LR.
Fmb v X

n / n

EL / =) Y. X

n / n

S¥ . =) s,6
! =Y ox oY

M Zx / =) [SuMs SUMS
" JEME Ew2 TEw

X BEED (%)

y ENEDG] (¥)

y X BIEDC(RH)




$4.10
1000

15.5
12.5

.(x

$4.70
900

9.25
12.0

10.0
8.5

(3] (CLEAR] (4] (4E)

1.0860 OEEE)

O2EEIM@
&, BEOE CHM2IOEIEIMM
2IEE06EIE)

HW Y H )= B(EY] (

$4.60  $4.25 (x)
800 250 (y)

(

286 . BRaa
2. 86886

1.068, 8808

[73) [CLEAR) (4) (43)

QEOENER @E
2B
(3)(0) 0] ENTER) (A] (=]
B ’
() (0) 0] ENTER) (&) (5]

,

0] 0])(o]ENTER] (4]
5-12



4. @008 =4

WW Y E )W BEEDC]E] (

4.4314

/

n-1
()
X @) (Sa] (5%)
y BEa] 2] (5¥)
" (c*) (o¥)
/
/ /
(sx)
9.25
15.5 10.0
12.5 12.0 8.5
(x ) . /

/ (I3 (CLEAR] (4] (4E)
1. e@08 WEIAUEIE]
M@EEI0]e]
EHM21EIEI0)
6. 8064 @E)EIE1E
TH S¥ oH o =) (%)

2.5388



( ) / n-1

/ E)50) (%)
/ B 50 3] (5¥)

180 174,173,170

/ (E8) (CLEAR) () (43)

W@EIE@E)
EHW@Ed]Ee]
4. 8004 0I1E+]

Sx 5¥ g ¥ B3 8010 (ox)
3.6313

( ) LR

Y.X

STAT ERROR

L.R




y x () oy
X y( ) o
{y X v
+1 1
m
y / b
x )y y , (y )x
ECRIGI(Y) EERI(F)
&) L)
b
.y / / ;
80.00 60.00 40.00 20.00 0.00 X
( )
7.78 7.21 6.61 578 4.63 Y
( )
/ (F3) (CLEAR] (4] (4F)
Ve
n : @) E)E)ENER) (0]
EH@DEIEER (2)
v.218a @
48898 ) OE@MENTER) (@)
@)
@)D ENTER) (6)

@&



7. 7800 @E@IEIENTER) (8]

5. BEEE =9
FmbY H =) ()
|.9238

/ Fmbs H
B.8387
3% FmeBS X
4,8558
Y
8.50+
/
X ®
2501 o)
r=0.9880 - °
7
/

[ Vg

6.50+ 7
7
7 m=0.0387
®
550+ 7
/
/
r b=4.8560
4.50 ! : : : X
0 20 40 &0 80



70

7. 7E0E ©)@0)
7a
Fmey & )i () (
79615
/
, /
/
X ( /
/ )7 X X ,
, 7777001 7777000 7776999 X ,
X X 7777000 1 0 -1
.7777000 y 7777000 x m
y X

10 -12



=) &)

/ :
=)
. (I'l) n
. X (EK) n
Y (E%) .
(Exx) (EvE) (ExE) .
y X

&) (MEM) (1) (1 VAR (ENTER)

/

(34) (12
/ (73) (CLEAR) (4] (43)
2.@eee  (2)(ENTER) 1)) ’

4.0008  (4](ENTER] (3](Z4) ’

11 -12



12 -12

VAR / f n= @
n 12 2. Baee (MEM] (1 )(1VAR)
Xy * Exw=
¥ 14, 0EEE
Xy? * Ew2=
¥ 28 . AEEE
>x2 * Eul=
¥ 18, AEGEE
2y 1t Zy=
¥ €. BEEE
X * Ex=
¥ 4, pEEE
n t n=
¥ 2. pEEE
VAR / 4. BE6E
2. paEn
HP 35s /
-27 n
X -28 >x
y -29 Sy
X -30 >x2
y -31 ZyQ




J

y X 32 ‘ Xy ‘
(-32 27 )
(@ )
I () ) (WEW) ()
SUMS
14 /

13 -12



14 -12









13

1
2
5
5x& (@ X RPN
5 X2] X&) (7] ENTER)  :ALG

.5398 78



PRGM

. PRGM TOP

. (Radius)2

. X2

FRGHM TOF

agel w2

BEOEZ 1
BEAZE

ra.5398

ALG RPN

BEE1 SRR BEE1 x2
BEAZ
BEAZ x
RPN
:(RPN )

=)
(FALL)Z () ENTER)

=) RS

(cife] REN NEN

@) (=)

&) (@)

(/=) (PRGM

(RPN )

[cife] RN N KX

5 RA)

ALG



PRGM )

PRGM TOP
. PRGM TOP

,(Rawugz BEEL SCCH g

X 5 Sk
5. 8880

! 72.9358

(ALG )
=) K1)

(3ALL)CQ (¥)ENIER)
73) (PRGM)

(cife] REN NEN

[>]]F4 [N | [N [ES
&) (@

(’=) (PRGM

:(ALG )

(cife] REN NEN

B1E10] ENTER

R/S

RPN
ALG

RPN
. ALG



FRGH TOF

_(FIBEIS ETH

)

RTN

(RTN  LBL)

(Ham LEL A

[>]] letter—key ( /

Z A /

G
(EILIF'LICFIT  LEL
« 7 )

999

ALG RPN

)

=) RN



RPN

XEQ

JINPUT

Q

ALG

) RPN .
(c ) ALG .
(6 ) -
RPN
( )
RPN
ENTER ).
STO
RPN /
/
/
/



VIEW

2 1
/ /
/ =)
. PRGM -
ALG . ()
/ =) A1
FRGM TOF GJ .2
/
() [73) (CLEAR) (3) (3FEH)
. CLRPGMS? ¥ M
. =38 letter ( / ) Z A / - / 3
n n n aI’_eall A /
/ . DUPLICAT.LEL
/ (&) (MEM] (2] (2FGH) _

(€] [FE)(CLEAR

4



FRGHM TOP

</

. B[RIN

(EESH) ) ©

&) (SHOW] ) .SCl  ALL
.EQN /
6
) -
- (
([EX) (SHOW
» @
R B
/ /
/
/
/ /
. /@) [CER) (1] (1%) X /
XEQ GTO



ABE1 LEL A
ABBEZ 2+3

AEE3 1+2

AE84 CTOOARBAZ

. “A003 GTO A002” A004 <A002
/
/
=] /
(RPN )
/ (/=) (PRGM)
(  PRGM)
/ (/=) (CLEAR] (3]
FEGHM TOP (EF‘GH) ('-,-')
ENTER
AEa1 LEL A =) LB A)
(' ) A

ABEE 32 [~>]]E=d]
AEEZ . =z
ABE4 x
ABBS ETH =) [RTN]
A / LEL A &) (MEM] (2]
LH=135 (2P GHM)
CK=D0AF1 (&) (SHOW]

LH=15

( PRGM)



RPN

.("equation

FRGHM TOF

E&@@l LEL E

")

EBRZ STOR

EBB3 gxR~2

Ck=FE3E
LH=3
EdBd RTH

LEL E
LH=17¥

CK=2873
LH=17¥

(RPN )

=) (PreM] (GTO] (-]
=]

=) (e (E]

g
g

&l
EE

E
%
m
Z
_|
m
7o

() (SHOW)
=) RTN)

&) (MEM] (2]
(2FPGM)

(&) SHOW



2,5

10 -13

( PRGM
(XEQ)
/ !/ XEQ
.[ENTER] /|  XEQ
"WER AB@1" .XEQ][A] (ENTER]
A /
XEQ
XEQ)(A)(0](0](5]
PRGM (7 )
/
E A
E A m2
(RPN )
RUNHING  [5](XEQ](AJ(ENTER]
78.53598
19,6350 (2)(]EIXEQ)(E]
- E
2=
124.8251 XEQ ENTER



PRGM

(X

)

LBL

257.

5. BEaa

AEE1 LEL A
5. 86048
ABAZ =<
25.0088

ABE3Z
2.1418
AEE4
T8.5398
ABES RTH
T8.5398

]
/
/
(RPN )
(5] (CT0) A ENTER)

] (hold) (release)

] (hold) (release)
] (hold) (release)

] (hold) (release)

] (hold) (release)

11 -13



12 -13

) (11

PSE

) (11

/

/

VIEW



(= Variable (

INPUT
RPN ALG
AEE1 LEL A AEE1 LEBL A
ABEZ2 INPUT E ABEZ2 IHPUT E
AEEZ w2 ABEZE SLRCRI =g
ABE4 o AEE4 RETH
ABAS =
ABEE ETH
R

INPUT

) ) INPUT
/)RS
INPUT

13 -13

R
B.8866

B.a668



INPUT
variable ()

X INPUT
INPUT -
-Z-Y-X
ANPUT
/
R7E. BRAG INPUT
R (X )
.RAS)
X .R/S)
2] 3] .R55)
) ALG 2 &) RPN
2
(X 2
X . INPUT
) INPUT R/S

INPUT

14 -13



/ VIEW

(VIEW] variable( ) VIEW
A=
78.5398
/ X
X
14 =
@3] B3]
X I (@)@ .
/@) [CLEAR) -
R/S
16 " / - / "
VIEW X T TO016 TO15
VIEWed RCL .RCL
VIEW ). X
17 16 ( /
X VIEWed

15 -13



- /
ENTER . RCL
10 /
(14 / ) . J
- ()
» 14
=) =)
( ) VIEW INPUT :
)7 ( ) S (cylinder ) C
: ( )H ( )R
V= nR2H

S=2nR2+2n RH=2nR(R+H)

(RPN )

/ =) (PrRCM) (1I3)
. FRGHM TOF (CLEAR) (3) (3F‘GH)

<N » [ENTER)
CEE1 LEL C [>]]
Ce82 IMPUT R &) INPUT) (R)

CEB3 INPUT H =

16 -13



caad pxR~2xH

CkK=V4FE
LH=V

vV caas sTo v

CHBAEG ZxpxRx R+

CK=13E3
LH=11

caay 5ToO 5

Caas 5F 1@

Caa3 VoL + AREw

10
CE1ECF 18

call VIEM Y
calz VIEW 5

CE1Z RTH

c |/ LEL C
LH=E7

CK=2vC3
LH=&7¥

~

3
3y 2
Z

B
9 Ez@
7N

ﬁ

7
@)
-

)
T
[®]
=

= [

m
s
=
E
X
EE

,
&
o
2
B
=

m
Z
=
m
70

SHOW

B

S

&) Facs)(] (15F

~

I [0
EQN) [RCL
e [[e1

A
Qﬁm
el
alE[H

ENTER

&) [ELAcs)(1]) (2CF
K2 |1
=)

&) MEW])(s])

~

&) fN)

&) MEmM)(2)
(ZPGM)

[Ex) SHOW

17 -13



(RPN )
C R? ENTER
) R valve
( R
21/, e @DEOODEE
y valve R/S
YOL + AREA
W= R/S
157 . @796
S= R/S
164 . 9336
( ) VIEW
( ) PSE - VIEW -
/
/ RND /
( )7
PSE /=) (PSE
- PSE - PSE VIEW

18 -13



(PSE STOP)

.STOP ( / ) .
X
RTN STOP .
( ) PSE /=3 (PSE .
PSE . - X
(10 / ) VIEW
/
.R/S]
(1 )
(=) RIN) (G10) (XEQ)
label line ( /) RS
.(number
(F )
3

19 -13



N Undo ) - .2

(B <) 4

AOO5 A004
A004
A005

( Undo )

20 -13



= 1
( ) .2
;
mE B\ 3
ALG , [ENTER] 4
.5
/
) ()
( PRGM
PEGHM TOF
«( )
|~ B .
c 7 -
=
. PRGM TOP o) .
] label ( )nnn .

21 -13



22 -13

label line number ( )

MEMORY FULL

(MEM)
/
/ &) (MEM) (2)(2F M)
/ S
=) )
( / =)
(&) ) /

)



(M

LH=

(PRGM

Ck=

)

L)

/

LEL C

LH=&7
67
/
/
(&) (MEM] (2] (2FGH)(ENTER] 1
= 2
=] / 3
/
=) 1
[/ 3 CEAR)(3] (FPGHM) 2
CLRPGMS?YH 3
: =) 4
(=) (CLEAR] (3] (3ALL))
(
&) (MEM] (2] (2PGH) A1
2
=) 3

23 -13



(RPN )
C LELC &) MEM) (2]
67 LH=&7 (EF‘GH)
cK=57C3 @) (hold)
LH=&7
17 16
/
HP 35s
=) (PGM) EIRER
/@) (CLEAR] (3] (3ALL) (] label line number ( /
=] =)
=), =, [, =
=)
@], =\ =)
(€ [UREO) ) (CEAR) (6] (6CLVARx)

24 -13



BASE

3] (BASE) / /

/
X )
DEC . HEX OCT BIN
/ /
/ / /
/
/
/ /
PRGM BIN PRGM
REE3 BIM ABE2 BIN
AB1E 18k AE1E 18
n d n
n b n

25 -13



Ax4 + Bx3 + Cx2 + Dx + E

X RPN

(x=7)7 X 5x4 + 2x3 RPN

26 -13



5x4

X3

2x3
5x4 + 2x3

47

PRGH TOF
ABE1 LEL A

ABRZ THPUT =
AEBEZE 3
ABE4 RCL =
AEES 4
ABEE &
AEBET
ABES RCL =
AR 3
AE1E =
AE11 2
AE12 =
AE13 +
AE14 RTH
LEL A
LH=4&

CK=ER1Z
LH=4&

Er
valve
12.691 . 8668

(RPN )

=) (FreM) (€10)
-l

=) [BU(A)
&) (N

[

RCL

g
8
ERERENS

E

+
(=]
&) (FEW (2] (2FGH)

ENE

&) (SHow]

(RPN )

ENTER

27 -13



Ax4 +Bx3 +Cx2 + Dx+ E

ABE1 LEL A
REEZ2 IMFUT A
AREEZE IMFUT E
ARE&E4 IMPUT C
AREES IMPUT D
AREES IMPUT E
REET IMPUT X

ABAs RCL =

ABE2 RCLx A

AB1a RCL+ B

AB11 RCLx ®

AB12 RCL+ C

AB13 RCLx »

AE14 RCL+ D

AE153 RCLx »

AEle RCL+ E

AB1Y RETH

Checksum and len3th: 9ESE 51 ;

28 -13



14

13

RTN / /
.STOP



(RTN XEQ)

( )
/
ABES GTO BEAL 5O
'(I|1 I|) ‘_ ®
BBE]l LEL B «O®©
(lll ll) _’ ®
DBEA3E XER EAG1 D E
) D RTN E
.D004 (
ODeal LEL D
0DEE2 INPUT X
E -+ O DEE3 XER E@@l
«~ 0 DEE4 STO X
0DEas VIEW ¥
DEEs BTH
«0 EB@l LEL E
EBB2 +-—
D -+ ® EBEZE ETH




LBL AOO1

XEQ BOO1

SIN

RTN

AEC OVERFLOW

NC EEEEEEE
N

LBL BOO1

XEQ C001

3.1416

RTN

20

N
N

20

1BLCOO01 | | LBL DOOT
‘ v/
XEQ DOO1T |
RMDR | »
RIN |V RTN
S

Va2 + b2+ c? + d?



RPN /

SB881 LEL 5
A 5EE2 INFUT A
.B SEE3 INFUT B
.C SEE4 INPUT C
.D SEES INFUT D
S8E& RCL D
SBEF RCL C
5802 RCL B
5809 RCL A
A2, S@1@ %<
A2 +B2. -+ O 5811 KEQ @861
A2 + B2 + C2 =+ O 5A12 HER GEE1 © -
A2 + B2 + C2+ D2 =+ 0O 58132 HER @EEl @ -
VA% +B?+C2+D? %/ 5814 © -
SB15 RTH
+~ ©O06 REE1 LEL @
REEZ <y
REE3I 2
x2 REE4 +
REES RTH Q@0 «
(GTO)
( ) GTO
( /




GTO

( / GTO ) / GTO
/ /
GTO
GTO £ 8@l .16 " "
LBL Z
S0l LEL S
.2001

=@ sE84 GTO ZEE1

Ledl LEL L

2001 =»® Le\e4 GTO ZeA1
E@E1l LEL E
-£001 O E@A4 GTO ZEE1
«® Zeal LEL 2
GTO
/ GTO



C@ @) FPRGH TOF

.(1000 < ) label line number ( / ) :
¢l @& CoIAI00E
" GTORGEL"
) A0O1: :
"GTO AEE1" (
/ /
( H ) ==B7  A005
X
." Do if true " . A007
AEE1 LEL A
ABES x=@7 -+ 0
D « ABEE GTO BBA1
ABET LH «O
ABEZ STO A
O EGE1 LEL B
/ (



.Y X

X Y
/ /
(x?0 x7?y)
=) =)
.Y X
X
Y y X
x?0 x?y
JIHVALID DATA
x?0 x?y

x207? £ | x# #

y?
x<07? < x<y <

?
x<0? < x<y <

2
x>07? > | xy? >
x>07? > X >

>y?
X=O? = X=y =

2

MO YES
X<y y=7 x=2

12

X?y
x?0



YES (Z)(ENTER] (2] (&) (x2¥) > (> ](<)(ENTER]

YES @ E=y) 2) (&) [(x27) > ] > ) (<) ENTER]

x<y? 16 " /
- X guess X
X guess X
X
7013 . Xguess X
( ) 0.0001
.T015 0.0001

RPN
ALG

(RPN )

THED +

TE1E STO+ =

Tall AES
Talz a.88a1
THLZ xcw?

TEl4 GTO TEEL

TE13 RCL =
TEle VIENW &

TO09
0.0001

T014



/ (True ) /
" .(False
/
/
/
/ A1 0 / 12 HP 35s
12 /
B /

@) CER) (3) @ALL) (<] () (ENTER).

4 321

( ) -
5
.A OVERFLOW

OVERFLOM
) ToO BIG 6 /
( 6 /
ToD EBIG 6 / /
6 5
5 /
6
7 9 8 7
/ )
7 / (’|=3) (EDisP)



10 -14

.8

./c

Jc




10

( ) 10 /
10 /
VIEW  / (
/
PSE
CF SF 10
CF SF
_ / 11
Jen soLve ( ) 11 /
. INPUT
11 /
/
: /
( )
R/S
Jen soLve 11 /
SF / CF SF 11

11 -14



A1 5

SF CF FS7? ; FLAGS

a1 o ) /

43210

3210

FS?

(&) [FLAGS)

=) 0 / &) [Fracs)(1)(15F) (0]

&) [ELAGs)(1)(15F) (O] 5410

FLAGS

/

[FLAGS) (T)(15F) @)
11 /

SF n
CF n
F5?n

NO  YES'

12 -14

FS



(RPN )
SA@l LBL S
In X , 0 SAaz2 CF a

AnY 1 SEE3 CF 1

X Sa6a4 THPUT X

.0 SEa3 FS? @

X SO06 LM
X Se67Y STO X

Y 5883 IMPUT ¥

.1 SER9 FS?1

Y Sei1@ LM
Y S@i1i1 STOY

5812 VIEMW ¥

SE13 VIEW Y

SA14 RTH
16B342 :

10 ,( ) S003 CF1 S002 CFO
Y X / SE1G  SEAs

sSeac 0 CF1 SFa sSo03 seaz

X /

saia@ 1 SF1 CFa 5063 seaz

Y /

13 -14



1 0 ,SF 1 SF B8 S063 sSooz

Y X / SE18  S086
(RPN )
'S / R (XEQ) (S ](ENTER]
X
Y X 1 ars MRS
X X 1 W= (MR/S
1.8608
Y Y= R/S
1.8608

@ ) EEes @(ecF) @

01 [ELAGS) (2)(2CF) (1)

(/c ) /

9 87)
" (10)
MESSAGE
( EQN ) / 1
letter ( / ) 2
()= (SPACE]

/ ENTER 3

14 -14



(RPN )
LEL F
CF 7
CF &

CF 3

SF 1@
/ DEC
INPUT W

/ INFUT D

(2 - 4095)
RCL W

DECIMAL

FSE

STOP

RCL DO

/c =
RCL W

MOST PRECISE

FSE
STOP

.8 SF &
FACTOR DENOM

FSE
STOP

.9 SF 9
FIXED DENOM

FSE

STOP
GTO FEE1

BE54 123 :

FaE1
Faaz
Faaz

Faa4

Faas
Faasg
Faay
Faaz

Faas

Faia
Fai1
Faiz
Fai1z
Fai4
Fais
Fale

Faiv
Faiz
Fais
Faza

Faz1
Fazz
Fazz
Faz4

Fazs

Fazea
Fazv

15 -14



(16
v
(16
(16
.10

.(D)

./c

(V)

532

16

(RPN )

e

valve

o7 2 EIEIRA)
valve

DECIMAL MERE)
1&. 8884
2.3238a

MOST PRECISE
28515 v
28,13

FACTOR DEHOM
2152 A
21-2

FIAED DEHOM
28516 A

2.5388  (R/S])(C]EN)(FLAGS)
2.5388  (2)(2CF) D@

16 -14

/

.looping

De&al LEL O
DEaz IMPUT M
DEas IMPUT N
Daad4 IMPUT T

Daas GTo DBl



label line ( / )

number

(GTO)

.GTO

(RPN )

5881 LBL 5

S@az2 IMPUT A

SEAa3 INFUTE

A S884 RCL A

A-B SE05 RCL- B

A SEEE STOA

SEE7 RCL B

A <B SEBS x{w?
SEE9 GTO SOE4

A : SE18 YIEK A

SE11 RTH
273733

17 -14



(ISG DSE)

&= (sc) /
( ) @3 BsE)  ( )

.3) variable ( ) ,
= variable ( ) ,

:BASIC FOR-NEXT

FOR—NEXT DSE
(=2 or ()I@) [BSE]) DSE  ISG shifted
( )
FOR variable = initial-valve TO final-value STEF =
increment
MEXT variable
+ccccccc. fffii
( 12 1 ) cccccecc ™
/ ( ) fifo-
.000 fff

18 -14



ccececece

ccceece

(1.010)

( ) /
(1 / )o1 ii
cceeece DSE , ccccecc. fffii
fff ccececc
Jff <
ISG , ccccecc.fffii
fff cceeecc
S >
o WBe1 LEL W
> Weas DSE Fi @ <
O«  WB1aGTOWEA1 )
WALl XER #8681 Q@
O We@1 LEL
< Weea ISCA -0 >
O«  WE1acToWeal
WE11 KER XBal @
ISG 0.050 ,
1 50
.RPN 10 ISG
A

19 -14

i =

, — i

cccecece

, cccceec + i

ccceece



La&al LEL L

Lesz 1.81
LB@z 57T@ 2
Lea4 I5G 2
LBas GTO Laad
LBas RTH
=) JXEQ] (L] (ENTER]
.11.0100
( ) / /
/
) :
(
0] o) (1 /
/ Z A
/ J | =
@ A )
I ¢ O -
( / Z A ) /
1) / ]
) OO ) ¢ O
(0
IIJII IIIII
J o ' )
J | |
( J ) III'II

20 -14



Q)

STO |

RCLI

STO +,—-, x =1
RCL +,—, x =

INPUT | DSE |
VIEW | ISG |
FNd I x<>|
SOLVE |

g O
YZ A
)z A
/ ORN()

21 -14



22-14

)

0/ S I/
A Bl il G A i) -1
Z / Z 26
" 27
X -28
zy -29
x2 -30
Xy -32
0
/
.800 / 800
IMVALID ¢I : 800> | -32<|
IMVALID ¢T3l 800> -32<J

() =FN

VIEW(J) VIEW(I) INPUT() ,INPUT(I)

SUMS
.INPUT  VIEW STO ,

/ OO
OO0 ! ,



STO(1)/(J) INPUT(1)/(J)

RCL(1)/(J) VIEW(1)/(J)
STO +, - x ,+, ()/(J) DSE()/(J)
RCL +, —x ,+, (1)/(J) 1SG(1)/(J)
X<>(1)/(J) SOLVE(l)/(J)
FN=(1)/(J) FN d(I)/(J)f
/(1)
- I
(J) STO (I) -
A STO(-1) ,
/ ( )
/ J
.ISG DSE
/(1)
(I3 I . ()
I ( ) 1
Jo () / ) Ty €I
801 )

23 -14



(RPN )
ABE1 LEL A
ABAZ 18/

ABAZ STO I
ABE4 12345

" 0-100 " / ABES STO (I
. 100 / "12345"

ABEE 156

ABEY STO I

ABES 672208

.150 " 67890 " ABES STO <1
."0-150"

AE16 166

AE11 STO I
AE1zZ @

. 100 0 AB13 STO (I
."0-150 "

AB14 1768
AB1S 5TO I

/ " INVALID (1)" AB1E RCLCI Y
11170H

AB1Y RTH

(A014 ) . "INVALID (I)" ,

37

800

24 -14



15

N " SOLVE
). =) label ( / )
(
. F3)(SOLVE) variable ()

2 INTERRUFTED R/S
=)
.R/S)
- RPN ALG
SOLVE

SOLVE

/
(FN=label" | ")



flx)

A1

INPUT

INPUT
INPUT
INPUT
, INPUT
ALG RPN
flx) =g(x)
o —gly
/
INPUT
.RTN
ALG
ALG
PxV=NxRxT
.(N/m2 )
( )
moles

R

(8.314 J/mole-K 5 0.0821 liter—atm/mole—K)

( K=°C + 273.1 Kelvins

/

)

=T



(ALG )

/ =)
PRGM TOP BIa
(ALG )
GEALl LEBL G
P GEaz IMPUT P
%4 GEAZ THPUT W
moles N GEd4 INPUT H
R GEAS IMPUT R
T GEAS IMPUT T
GAAT PxW=MxRxT
X X Moles = X
GEAS RTH

Checksum and length: F425 33 :

/
0.005 moles 'G"
24
(ALG )
SOLVE . - G" B N=)(C)
Y P Y7 (’=) (SOLVE] (P]
w3 lue
N v 2 M7 2]R/s
w3 U
R N 0,005 R ) e]E]IRS)
w3 lue
T R 0,0821 T? I8 |10 [ IR [ [N
w3l ue
T T? 2)@AH2@
257, 1684 IO (ENTER)
T 2971 SOLVING
.0.610 atm P F=
A.8518



FRGH TOF

/ HBE1 LEL H

Haaz 5F 11

11
EDC8 : )

HEE83Z Pxl=MNxRExT
Had4 RTH

/ @.8516

Checksum and length of program: DF52 21 :

(RPN

@
k-

=) (B H

&) (FLAGS) (1) (15F
Dm

~

7
H
s
m
[3)
Z

BE
CEBE
HHWX

el
@]
—
)
EE
[pet s
m
zZ
3 =
Z| |~

@



10

.Il Hl|
.V P
N v 2
R N 0,005
T R 0,0821
T
T 2971
287.1 297.1
)

B.B51A

B.8518
W

2. 8880
M7

8. 8850
R
B.8321
T?

297, 1888
T?

287, 1888
SOLVIMG
P=
B.8589

-8.86821

(RPN )
=)

=)
=) (soLvE] (P]

R/S
R/S

(ENTER) (1] (0] (=)

R/S

Rl W1(=)



.SOLVE

Y XEQ) X

.SOLVE variable (

VIEW variable ()

)

(14

(X

SOLVE

SOLVE

FH= label ( /
SOLVE variable (

SOLVE

SOLVE

)



(RPN

ABEE1 LEL &
neaz 24

ABEEZE GTO LAEE]

Checksum and length: 62A0 11 :

Y

Checksum and length: 221E 11

Yaal LEL Y

YEEZ 23

YEEE GTO LEA1

LeEl LEL L
Laaz2 STO I

LBB3 FH=F

Laa4 SOLVECT

LEas WIEWCI 2

)

LBBs RTH
Checksum and length: D45B 18 :
INPUT / fxy) FEEl LEL F
FB1a RTH
- ( )



<] variable (

INTERERUFTED

LAE

)

“JFN

ENTER

- RPN ALG

(AE

XEQ

.2
) - &) [EN=)/abel

3
4
FN=
2
1

(FH=label [ )



INPUT . INPUT

INPUT
INPUT
( )
INPUT
ALG RPN
- /
A1 / INPUT
X .RTN
8
sm)zjg(gixwx
. / S@AE1 LEL S
). SAAZ SINCHI+R
.(OEEO 8
SEE3I RTH

.D57E 17

(t=2)2 0 «x



(RPN )

/ (MODE] (2] (2RAD)
.Radians
S =)
2_ (0] (ENTER] (2]
IMTEGRATIMG =)
2 0 =]
1.66854
/ 1.6854 (MODE) (1] (1DEG)
/ /

FH= Jabel ( / )

[FH d variable ( )

( =h [FH
)
PSE (/=) (FsE) (
JFH X STOP ([RA3))
(10 / ) PSE

10 -15



[FM -

Sy2n M

F e((D—M)+S)2+2
/ Q(D)
Q
@aa1 LEL 0
@EAZ RCL M
.(X=D) REE3 RCL X
REG4 FH=F

FH 4 D[R865

/
[FN  d variable( ) SOLVE variable ( )
[FN  SOLVE
I oEn()
FH=label (  / ) [FN  SOLVE

[ FN [FHACTIVE  SOLVE ACTIVE

-(J (S0LVE) ) SOLVE
[FN  soLVE

.(14 n n ) /

11 -15






16

<>

=>

v x

(.12

HP 35s



A I L TS Y ] 3 At
‘u.l'u.n.u.m N i
5 E
¥ ¥

y=08+ Mx r=u=Mx

P e
e X X

et G ] Bt AR Gl el hag e
L P

¥ ¥

y=8+ M x y = BxM

ALOGCHEG

12 ! / !



/ /
X 0
Y 1
2z

Checksum and length: 8E85 12

Checksum and length: AD1B 12 :

Checksum and length: D6F1 12 :

Checksum and length: 3800 9 :

ECERR (@)(45) . /

Checksum and length: 8611 10 :

(RPN )
S@@1 LEL S
SEAZ CF @
S8@3 CF 1

sead GTOo 281

Leail LEL L
Legz SF @
Leas CF 1

Laad4 GTO 2881

EdBl LEL E
EBBz CF @
E@Baz SF 1

EGEd GTO 2861

Fo@l LEL F
FEBZ2 SF @

FaEaz SF 1

Zeal LBL 2
ZHBEZ CLE

ZHBE3 @

WEaEl LEL W

Wanz 1



X

" Undo

X

.0
/

Yy [/

.1

/
R B

Y X

Checksum and length: 9560 46 :

Y X

Checksum and length: A79F 15 ©

(RPN )
HBa3 +
WEad STO X
WEAS INPUT ¥
KBAE FS7? @
Wea7F LH
WBASs STOE
WBAZ INPUT ¥
WE18e FS? 1
WE11 LM

Walz STO R
Wel13 RCL E
Weld 4+

WE13 GTO Maal

Uaal LEL U

Uaaz RCL R

Uea3 RCL B
upnd =-

Haas GTo Maal

Ro@l LEL R
REEZ v
REB3 STO R

Raa4 VIEW R



(rPN )
b RABS b

1 REEs F57 1

REET &¥
B b RE&S 5TO B

RE&E3 VIEW B
.m RE18 m
M m RE11 STO M
REi1z VIEW M
Checksum and length: 850C 36 :

) Y@el LEL ¥

YEEZ THPUT X

-0 YBEE FS70
K001 YBE4 GTO KEB1
MO0O1 YBES5 GTO MEa1
y YBEE STO Y

YEE7¥ IMPUT %

-0 YBES FS78
0001 YBES GTO 0861
N0O1 YB18 GTO HEA1

X X vE11 STO X

YA12 GTO Yaal

Checksum and length: C3B7 36



<>

Checksum and length: 9688 15 :

X

x =(Y-B) =M

Checksum and length: 9COF 15 :

y

P =MInX+B

Checksum and length: 889C 18 :

X

X =ely-8+M

Checksum and length: ODBE 18 :

(RPN )

AB&a1 LEL A

ABEZ RCL M
ABB3E RCLx ¥
ABE4 RCL+ B

ABBES RTH

Gaal LEL G

caaz RCL Y
GEA3Z RCL- B
GoB4 RCL+ M

GHES RTH

E@al LEL B

EBEZ RCL X
BBBA3E LM
EBoGb4 RCLx M
BOBS RCL+ B

BOBs RTH

Haal LEL H

Hagz RCL Y
HBR3 RCL- B
Hegd4 RCL+ M

HEES &%

HBBe RTH



<>

.y =BeMx

.M005

Checksum and length: 9327 18 :

X

x=(n(Y+B))+M

.NOO5

Checksum and length: 7219 18 :

y

= B(X)

K005

Checksum and length: 11B3 18 :

X

x=(Y/B) UM

0005

Checksum and length: 8524 21 :

(RPN )

ceal LEL C

ceaz RCL M
Caas RCLx ¥

copd es
Cceas RCLx B

caas GTO Maas

IoBl LEL I

Iaaz RCL Y
IGEE RCL+ B
Iogad LH
I8E3 RCL+ M

Iaae GTO HEAS

0BEl LEL O

OBEEz2 RCL X
0Ba3 RCL M

DaE4 wH
DBES RCLx B

OBEE GTO KBAS

Taal LEL T

Taaz RCL Y
TEE3 RCL+ B
Taa4 BRCL M
JTEAS 1.
TEAE &

TAAFGTO OBAS



. BOO1 D001 /

D001

BOO1

Y006

Checksum and length: 4BFA 15 :
.A001 CO001 /

C001

A001

Y006

Checksum and length: 1C4D 15 :

.HOO01 JOO1 /

Joo1

HOO1

Y011

Checksum and length: 0AA5 15

.G001 1001 /

1001

G001

Y011

Checksum and length: 666D 15

(RPN )
KBal LEL K
Keaz FS71

KBaz XER DB61
KBa4 HER BEO1

EBES GTO YB&s

M&a&al LEL M
MBaz F571
MBRE3Z HER CAA1
MBBE4 S“ER ABE1

MBES GTO Yaas

oa&ail LEL O
ogez F571
OBE3 “ER JTEE1
0864 SER HBE1

0Bes GTO Yall

Heal LEL M
HBBaz F571
NBR3 HER I6@1
NBBad HER GAA1

HBES GTO Y11l



1 / X / 0 /
Y /
1 . 1001 N 1
.G001
1
XEQ .2
/ ENTER u

(L)(ENTER]) =

(EJENTER) =
/ (PJENTER) =
R/S X 3
R3] Y 4
4 3 5
( " Yvalue( ) )3 R/S
ENTER ( m?value( ) )
4 : ( )
3 (XEQ] (ENTER]
.R .6
B 7
M 8
. Pex A value( ) .9
" 7value( ) X X % .10
(Y?) y
" ?value( ) Ay kil Ja @l y X .11
(BF) X y
1110 .12



( / y ) B
/
( / ) M
R
X X
y Y
.101 v X 37 X y
34.6 35.1 36.2 37.9 38.6 40.5 X
94 95.5 97.5 100 102 104.5 Y
(RPN )
/ ey
1. pa6aE
X v [AC]BEIRE)
valve
y M7 W4E)
2.8000
X v BIEICIEIRSE)
164 .5000
y M7 WI@IRs]
2.8000
37,9 379

10 -16



<

o8

wy

37

101

Y
182, 8084

ne
4. 680

ne
2. 8880

N
18z . Boaa

ny
4. BEEN

W
168 . aaaa
wy

5. 8800
W

a7 . Sena
ny

& BEEE
Y
95,5808
wy

T a8Ea
R=
B.3955
B=
33.5271
M=
1.7e@1
ny

T aEag
W

Q8. 6526
wy
38,3336

RPN )
ADN@EE

R/S

ENTER
CI@EIRE)

) ]Rs]
BIHE2IRS]
@ZHEEIRA)
BIECAIRS)
@EIMBEIRA)
BIMMEIRS)

@MRA]

(R](ENTER

R/S
CI@RA]

MIOIRA]

11 -16



12 -16

( )1
)
/

(XEQ) (P) ENTER)| (XEQ) (E](ENTER) | (XEQ) (L] (ENTER) To start:
0.9959 0.9945 0.9965 R
8.9730 51.1312 -139.0088 B
0.6640 0.0177 65.8446 M
98.6845 98.5870 98.7508 when X=37)Y Y (

when x X (
38.3151 38.3628 38.2857 Y=101)
/ -




Q) .
X Q(x) L

“Upper
tail” area

"Upper tail"
area

HP 35s /

Newton / . /
.Q(x) / X /

13 -16



(rPN )
/ 58681 LBL 5
/ SEAz2 6

SEE3 STO M
M / SEE4 TMPUT M

S5ERS 1

SEEE STO 5
S / SEET IMPUT S

SH08 RTH

Checksum and length: 70BF 26 :
X Q(X) Da@l LEL D
X / DEE2 IMPUT X
DAB3 HEQ RBAE1

VIEW Q DEa4 STO @
QX) 08a5 VIEW @
QX 0@as GTO DAAl

Checksum and length: 042A 18 .

.Q(X) X 1881 LEL I
QX / 1882 INPUT @

/ I8B3 RCL M

Xguess X 1684 STO ¥

Checksum and length: A970 12 :

Teal LEL T

(Q( Xguess)— Q(X)) TEAZ KER 2961

(RPN )

14 -16



.Q(x)

. Xguess

Xguess

Xguess

X

Checksum and length: EDF4 57 :

LBLF

TEEZE RCL- @
ToAd RCL =
TEES STO DO

TEBE RV
Tea?Y <ER Faal

Teaz RCL= T
Taas +

TE1E STO+ ¥

Tall RES
TElz 6.6661
TEL1E maw?

Teld4 GTO Taal

TE1S RCL =
Tale VIEMW ¥

TE17 GTO I6E1

LEEl LEL @

LBEE2 RCL M

LBEA3Z RCL X

QEEd FH= F

FH 4 D [QBas

REaas 2
REET
QEES

(RPN )

15 -16



o (X-M)£8)? 2

16 -16

Sx 27

Checksum and length: 8387 52

Checksum and length: B3EB 31 :

Uxlo 2 Q

0,5

=, BEO3
@E18 RCLx S

GEi1l STOT

GElz +
GE13 +--
GEld4 6.5

GE1S +

GEE1E RTH

Foal LEL F

Faaz RCL D
Fa&as RCL- M
Faa4 RCL+ S

FaEs x2
Fogs 2
Foay +

FBRs +.--

Fa@s e
Faia RTH



(T | ) /

/
: 1
. XEQ](SJ(ENTER] 2
) / M 3
. (EB)
) S A4
. (R] 1
9 QX X 5
. XEQJ(DJ[ENTER] X QX .6
: Q(X) . R/S X 7
R/S X Q(X) .8
7
. XEQJ[IJ(ENTER] X QX .9
. X : QX) .10
Q(X) X 11
.10
/ D
M
Q
S
S x Jaxr T
/
X
1

17 -16



"36"

000 10

13.

.IIZGII

.[R/S]

M7

BREE

59

. BEEE
. BBEE

we
valve

=

JHB13

4954

ne

3. 8880

G=

QX B.8228

227, 3812

18 -16

RN )

(XEQ] (S J(ENTER]

R/S

R/S

(XEQ] (D] (ENTER]

R/S

We]e]elie]
RN )

R/S

2IRE

(Je]e]el(e]

"36"



315 .55 /

/ /
10 90
(RPN )
M?
. BEaa
/ 55 g7 GI1GIRS
1.66888
315 15.2886 (JGEJCIGEIRAS)
X ®?  (XEQJ(DJ(ENTER]
valve
X 90 Q= (9)0](R/S
Q(X) B.@111
.90
(RPN )
/ @7 (XEQ)(1](ENTER)
B.@111
Q(X) (10001 ¥= (@RS
X 46877
/ Q7
B. 16688
20 100) 0,8 W= O] EIRAS)
X Q(X) ( 42,1232
X1 ¢ Sy
Jo 2 S Xy X2
Z X»Qf-— (Z X«"ti)2
B I 1 Zf(
i (>.f)-1

19 -16



20-16

(- 32

(ALe )
Se@l LEL 5
-27 ) SEE2 CLE

SEaz a
.N SeR4 STO M

Checksum and length: E5BC 13 :
IBEl LEL I
X Iaz IMPUT =
.F IBE3 IMPUT F
.N IoEd 1

Ias STO B
i Iaas RCL F

Checksum and length: 3387 19 :

/
Fa@l LEL F
Fagz -27
=27
FBR3 STO I
Fo@d4 RCL F

.- 27 2k
FOES STO+(I3
xf FREE RCLx ¥
Fae7? STO 2
Faes —23
.— 28
Faes STO I

F@1@ RCL 2

.- 28 2 xf
FE1l STO+CI2
xk FE12 RCL® X

.- 30

FE13 5T0 2
Fald4 -3a
FEl1s sTO I
FE16 RCL 2

.- 30 2
FE17 STO+(I2



FBl1s RCL B

N ( )

FE12 STO+ H
Foze RCL M
Fozl RCL F

FBzZz RES
FBz23 STOF

Faz4 VIEW H

Faz3 GTO Ieal
Checksum and length: F6CB 84

Gaal LBEL G
GHBZ =x

GEE3 STO S
coa4 VIEMW 5

/ W GAAS

GEGS STO M
/ GAET VIEW M

GEEs GTO 1661

Checksum and length: DAF2 24

Uupal LEL U
N Uaaz -1

UBe3 STO B
Ua@d RCL F

f: UBBS +.—

l@as STo F
/ / uaay GTO FAa1

Checksum and length: 03F4 23 :

21 -16



XEQ] (S ] (ENTER]

B ( ) xi
REY( ) fi
VIEWing
5 3
4 (i xi)
3 «[R/S] XEQ] (U] (ENTER]
(XEQ) (G](ENTER]
3
2
X
F
N
S
/ M
i
>f; Register -27
2xif; Register -28
2x2f; Register -30

22 -16

o W N PR



fi

37
115

22
73

fi

Xi

fi

fi

Xi

fi

4 3
15 13

43 37

17

. X3

kS
valve
F?
valve

=

1. 0680

ne
5. 8880

F?
17 . BEEE
H=
2. BEe0
M7
&, BEOE

F?
26, BEOD

H=
3. 88688

13

H=
2. aEng
ny
14. 8068
F?
37 . 880a
H=
3. 8860
wy
13 . 6068
F?
37 . 8808
H=
4 . BEEE
ny
15 . 6068
F?
43, BEBa
H=
5. 88088

fi

(RPN )
(XEQ) (S ] (ENTER]

GIRA)

@RS

R/S
(8] (R/s]

21CelRs)

4 Rs)
1@ RAS)
14

ENTER

R/S

WGEIRS)
R/S

WEIRS)

(4)E]RS)

R/S

2121RA)

AEIRS]

23 -16



24 -16

Xj

fi

(sx)

VIEW

ne
22 . Baang

F?
73, 0080

H=
& BEEE

S=
11.4112

M=
23,4884

23 . 4884

R/S

B1@RS)
MOEIRA)

ENTER

R3]

<]



17

Balance, B

|

1

(TVM) "

1- (1+1/100)-N

/100

} F(1+(I/100)}N + B =0

Balance

Payments

Future Value

(|

Payments, P

f

(F

2

3

TN

Future Value, F

TVM



PxlBBx(l-C1+I+1882~-HI+I+Fx{1+I+1882~-H+E

/ EGMLIST TOP

Pax 188

Prl@@x1-)
Prl@@xel—(1+3 )
@0 1-C1+1+ 108w
@1-C1+I+188 )

@(1+I+18@s~—H)
@188 ~—MHI+T+Fx_

@-—HI+I+F=({1+I2

@I+Fx(1+I+188)
@:(1+I+18ar~-H_
@l+I+1B@s~—H+B_

PxlBBx{1-C1+1+ »

CkK=CEFHR
LH=41

.DIVIDEEBY @
SOLVE ME@E0eIM)

(RPN )
kel (PI(x)(1](0](0)
0=
BN|NR[ES
kel (x1)))

=) keI
0] M) kel

HOM@M@)

=) (hold)

| TVM
/
() (SO (1))
. SOLVE



12 (x]

0 \E]

).

/
/
/
12 %15

.15+12=1.25%

i

TVM 1
.[EQN] 2
TVM
: .3
=) (SoLveE] (V]
=) (soLve] (1]
/
()=3])(SOLVE] (B])
(=) (SOLVE] (P
(=) (SOLVE] (]
A4
R/S .5
.6
SOLVE
N
|
B
/ P
F



%5 10 (  36)
.$500 1

B=7,250-1,500

1=10.5% per year
N =36 months

I A

P=2?
= months . =Year
(RPN )
FIX (DIPLAY) (3] (1F IX) (2]
.2
Px188:={1-C1+I+mp (EQN])((] as needed )
.TVM
g I? =) (SOoLvE) (P)
w3 | UE
I7 (W] ](5](ENTER]
a.88 W2 =
/ 88 0 M7 R/S
N / w3 [ UE
N 36 F? B]61R/S
F / w3 [ UE
.F B (0J(R/s



B

5750

$10

w3 [ UE

B?
5.758.608

SOLMING
P=
-12&.89



PxlBBx(1l-(1+I+mp
.TVM

A P
-186.89

7

-186.89

7
-176.89

.P 89 176 - H?

.B

ODIVIDE BY @

N / 36 .88

36 F?
F .60

0 B?
B S.758. 88

5750 SOLMIMG
I=
5

E.73

(%75 6)

PxlBBx(1-(1+I+mp
.TVM

F 7
-176.83

(RPN )
(EQN)

3] (SoLvE] (1]
=) RND)

Wl

@]

(RPN )

(EQN)

[73) (SOLE



/ P I7? R/S
a.56
0.56 M7 R/S
N 36.680
24 B? 2) @RS
B 5.75@.88
B 5750 SOLWING R/S
F F=
-2.847 .85
FIX (&) (DispLAY) (1]
(1FI%) (4)
(1
) 2



@
Note: x is the
value in the
X-register. <

FP [P/D] - x

v

g yes

no

no

D+2-5D




(AG )
P Yaal LeL Y

Yaaz VIEW P
Checksum and length: 2CC5 6 :

.P 2 Zeal LBL 2

Zeaz 2+ F
Checksum and length: EFB2 9 :

FE@l LEL F

FEEZ LAST=k P
FEEZ FP(P+22
FEBEG
FEES @

FEEE x=w?

p FBEY 1+PRMF

.D 3 Fa&az 20
Checksum and length: EA89 47 :

P ABEl LEL X

.P=D nEE2 FPCP=02

/ HBAZ x=@7

Aead4 GTo 2881

AEBES SARTCP
REBGE
AEEY 0O

REEZ x>wT?

ABas GTo Yaal

nela 2+080
®all GTO xaal

Checksum and length: C6B5 53



10 -17

.789

.797

FP=
et lalls]

FP=
2683 . 6068

XEQ] (P ] (ENTER]

789

(ALG )

@DEIEIXEQ)
(P](ENTER)

R/S

D W N R



vixvo=(YW=2ZV)i+(ZU - XW)j + (XV - YUk

vi=Xi+Yj+Zk

vo=Ui+Vj+ Wk

(RPN )
REE1 LEL R

X RoBz IMPUT X
Y REB3 IMPUT %
Z REE4 THPUT 2
R0O0O1 REBES GTO REE1
Checksum and length: D82E 15 :

Ed@l LEL E

7 v X E@BZ RCL ¥

E@@3 STO U
E@ad RCL Y
E@@s STO W
E@Bs RCL 2
EQ@aY STO W
R0OO1 EGEs GTO Reaal

Checksum and length: B6AF 24

11 -17



12 -17

X (YW = 2V)
Y o (ZU - WX)
z (XV=YU)
X /
Y /
ROOT

Checksum and length: 838D 72 :

v2=i-2j+3k 5 v1=2i+5j+4k

(RPN )

CAEl LEL C

conz RCL Y
CHA3 RCLx W
cead4 RCL 2
CERs RCLx VW
cope -

ceay sTo R
ceas RCL 2
CHES RCLx U
cala RCL X
CH11l RCLx W
celz -

Caiz sTOE
Cald RCL ¥
CH1S RCL= W
caile RCL Y
CA1Y RCLx U
celg -

ceils sToZ

ceze RCL A
Ccazl sTo X

cezz2 RCL E
Cazi sToY

coz4 GTO RE&1



v2

v2

v2

v2

vl

vl

vl

walue

walue

walue

ny

w?

z?

ny

ny

w?

z?

ny

ny

w?

z?

(R](ENTER

) Rs)

21CARA)
(3]Rs]
(XEQ) (E] (ENTER

(2](Rzs]
E1Rs)

(4](R/s]

R/S

13 -17












) X

(DE-M

S

.Error! Bookmark not defined.

A-5

) B (5)(5)  /

(21-1 ) [EM)(DispAY]

/ /
CLEAR =)
X



. (2.51E-13 ) "E"

. (2.51x10" ) /
. MEMORY FULL :
.(B ) . /
radians © ( / )
12 T /
/
3GROD 2RAD 1DEG / /
i ! !
=
/
( 1132 329) 452 092 u
149¢ -49) 652 -202 u
(
1049) 409 90% u
(



(3

MEMORY CLERR




(+)

(+)

CR2032

.Error! Bookmark not defined.

.[GTO

0] RS

(4-1

MEMORY CLERRE

((3-1)



MEMORY
CLERE
.3
.RESET
RESET
)
| |
( ) 1
.2
A_l n / n
. Error! Bookmark not defined. .3
XEQ -1
-2
© 28@7 HF DEV CO. L. P. /
EKEBED AL



: -3
[R/S]— [GTO]) — (XEQ] — [MODE] -] - -] — RC)— RY— F=Y)—1])
— -GN~ Cos)~TAN] —~ (&) — (2] —(x)—[ENTER) ()~ (E)~ 0]~ (=]~ EaN—~ (7]
-8 ~-E-Em-e-E e X -\E-a-2-0-0-d -0 -

—»—»
KED n

( )
n

(% )
4
= : 255-0K .
355-FRIL ]
(€l ) Reset
)
/ .(Error! Bookmark not defined.
) Reset .5
(C)



HP
HP
HP
HP

HP

HP

() () :
() HP

()

12 :

HP

HP

HP 35s

HP

HP

HP
HP

(

)



HP

Hewlett

Packard

HP
HP

AP




03-9841-521151300-551-664
010-68002397
2805-2563

+65 6100 6682
+852 2805-2563
+65 6100 6682
09-574-2700
+65 6100 6682
6100 6682
2-561-2700
+852 2805-2563
+65 6100 6682
+65 6100 6682

01 360 277 1203

02 620 00 86

02 620 00 85

296 335 612

82 33 28 44

09 8171 0281

01 4993 9006

069 9530 7103

210 969 6421

020 654 5301

01 605 0356

0275419 782

2730 2146

23500027

021 318 0093

495 228 3050

0800980410

913753382

08 5199 2065
)A3,1022 827 8780 (

)&ll¥I01 439 5358 (

)&¥1022 567 5308 (

0207 458 0161

EMEA



10 -A

1-800-711-2884
1-800-711-2884
0-800- 555-5000
800-8000 ¢ 800-711-2884
1-800-711-2884
1-800-711-2884
1-800-711-2884
800-100-193
0-800-709-7751
1-800-711-2884
1-800-711-2884

001-800-872-2881 + 800-711-2884

800-360-999

01-8000-51-4746-8368 (01-8000-51- HP
INVENT)

0-800-011-0524
1-800-711-2884

1-800-711-2884

1-999-119 ¢ 800-711-2884 (Andinatel)
1-800-225-528 ¢ 800-711-2884
(Pacifitel)

800-6160
0-800-990-011+ 800-711-2884
0-800-990-011+ 800-711-2884

1-800-711-2884
0-800-990-011¢ 800-711-2884
1-800-999-5105
159 ¢ 800-711-2884
183 ¢ 800-711-2884

LA



800-0-123 ¢ 800-711-2884
1-800-711-2884
0-800-990-011 # 877-219-8671
01-800-474-68368 (800 HP INVENT)
1-800-711-2884
001-800-872-2881 ¢ 800-711-2884
1-800-0164 ¢ 800-711-2884
001-800-711-2884
(009) 800-541-0006
0-800-10111
1-877 232 0589
1-800-478-4602
01-800-711-2884
1-800-711-2884
1-800-711-2884
156 ¢ 800-711-2884
1-800-711-2884
01-800-711-2884
1-800-711-2884
0004-054-177
0-800-474-68368 (0-800 HP INVENT)

NA

800-HP-INVENT

800-HP INVENT

http://www.hp.com




12 -A

15

1) :

.FCC

o[]
o[]

o[]

FCC
Hewlett Packard

FCC /

FCC 15
(2)

Hewlett Packard

Hewlett-Packard Company
P. O. Box 692000, Mail Stop 530113
Houston, TX 77269-2000



. Hewlett Packard FCC

Hewlett-Packard Company
P. O. Box 692000, Mail Stop 510101
Houston, TX 77269-2000

281-514-3333 . 3333-514-281 HP

Avis Canadien

Cet appareil numérique de la classe B respecte toutes les exigences du Reéglement sur le
matériel brouilleur du Canada.

2006/95/EC [

EMC 2004/108/EC n
( )

Hewlett-Packard

ce C€.0

This marking is valid for non- Telecom|This marking is valid for EU non-har- monized

products and EU harmonized Telecom Telecom products. *Notified body number
products (e.g. Bluetooth).| (used only if applicable - refer to the product
label)

Hewlett-Packard GmbH, HQ-TRE, Herrenberger Strasse 140, 71034 Boeblingen, Germany

ZOEERR. BRUIEEESERBEEEIHEGANES (VCC 1) OHE%E
CETSL 7S A BIERFRINEETT, COXEERX. RERETHERTS L
ZEMELTOWETE, ZOEERS AT LED a UZERIGAEL T
FRINDE. ZEREESIEREITILENHDET,

RBEFHEEICHE S TELWERDOFENZLTTFIWN,



14 -A



« 7 ) / -
/

/ / 30 HP 35s

«JFN  SOLVE A )
JEN ).
/

MEMORY FULL

( ) /
(6 / ) .
(13 " I ) .
(|=) (CLEAR) (3] (3HLLY)) / / .

. (=) (MEM]



EQMLIST TOP ). /
(
(= )
( ) ( &) SHOW
CK=382E LH=41
Y MEM) (2] (2PGh)
/ )
LEL F LH=57V (
( ) ( ) &) SHOW
CKE=9CC9 LH=57
CK=AEV1 LH=15 @
SOLVE
INPUT VIEW [EN
( )
.[GIo
/
.RESET



. /) ([CEAR) (3) (3ALL)

MEMORY CLERE



)
/
/
/
" 'I IOOOII
4095 (/c /
FIX 4
/
xiy /
/
EQN LIST TOP EQN LIST TOP|
/ /
=FN
PRGM TOP PRGM TOP|
/ /
/ /
/ /
RPN




MBCER] (3] (F5TK) mEEICERID (1#)

-T -Z-Y X
Clx
/ INPUT /
(X )
/
DEG, RAD, FIX, SCI, DEC, HEX, CLVARS
GRAD ENG, ALL OCT, BIN
PSE SHOW RADIX . RADIX, Clz
STOP 5(R/S) (~Jand (€)* and (=]*
(MEM]) (1] MEM] (2] (GTO) (] ] (T3] (] label nnn
(TWAR)** (2P GH)**
EQN FDISP
xiy rfa
.Clx *
/ * %
{FEMy {WAR}




LAST X

‘RPN LAST X X

+, - X, + /XQI\/; eX,]OX

LN, LOG Wyx, I/x, INT+, Rmdr

SIN, COS, TAN ASIN, ACOS, ATAN oo
SINH, COSH, TANH  ASINH, ACOSH, ATANH IP, FP, SGN, INTG,
RND, ABS

%, %CHG >+, - RCL+, —, %, =+

HMS=, 2HMS -DEG, =#RAD

nCr nPr ! ARG

CMPLX +, —, x ,+ CMPLX eX, LN, yX, 1/x CMPLX SIN, COS,
TAN

—kg, —lb -°C, =»°F =cm, —in

-, =»gal -+KM —>MILE
LAST X
LASTx  x variable (

LASTx variable (

ALG

LAST X

ALG

/c

) &



RPN T2 Y X
.REGT REGZ REGY REGX /

.
-~ -Z-Y X
.REGT REGZ REGY REGX
REGX x REGY x REGZ x REGT
T ZY Z YX X

.HP35s






ALG :
ALG
ALG /

(@ N @ (@)@ ©o & ) -
16 28 / =

ALG (MODE] (4 ](4ALEG)
ALG ALG

ALG

. / A
NN " .2
TAN SIN COS / 3

FP IP RAND RND % ¥x g Vx 1/x x> IN  LOG ATAN ASIN ACOS
10X eX ABS Rmdr INT= %CHG nCr nPr SGN INTG

yX W

I

1-C ALG:



o N o Un

ALG

ALG ALG /
‘ALG

(= 9)
(=) )
(1@ [P0 B ()
( ) (NTG) (3)(3Rmar) EN)(NTG) (2](2INTG+))

(= = &) ALG
. (ENTER]
1243 W E]ENTER) 12+3
15. 680a
12-3 M@A=EIENTER) 12-3
2. 868840
12x3 W@AXE]ENTER) 12x3
26, 86688
12+3 W@AREIENTR) 12+3
4. BaER

2-C ALG:



.[ENTER] y 3 x X y ALG
123 WA E]ENTER] 123
1:7258. 0AEG
KROOT (2. 64> @EEICIEMETR) 64173 (cube roof)
4. 8008
( )
.100 %
xezem, 27y @212 200 %27
54,088
2eE-%c2e6.27 2)OEE2 (@] .%27 -200
146 . 0004 @IC]2@IENTER]
zE+xc25.12y 2AEIEHIEZ2]G] .%12+25
25 . 0080 G (2] (ENTER)

@) y 2] x y %%
&) (%CHG) y >]x (yz0)x y
$12 16 76 15
=) (%cHc) (1))
%2 2 XCHGE18.12.15. 7 @1mE gl
-2.2333

3-C ALG:



10 14

ncr(24.6) EIENR@E]) @)
134,596 . 0OOE

E(INTG) (3)(3Rmar)  [E)(INTG)(2](2INTE+)

EN(NTG) (2)(2INTG=) Integer | Integer 2. Integer |-,
&)INTG) (3)(3Rmdr) Integer | Integer 2. Integer 7
9+58

IOINVCSE .92 @@(EIHTG+)
&.8808  (5)3) ) (9] ENTER)
RMOR(S5S.9) ([@)(INTG) (3)(3Rmdr) (3]
4. 0EEa E) 1 (9] ENTER)

30
85-12

4 -C ALG:



-107.6471 G10EEEEORAEM®
85 12
G10OEMEEE=A
30+ (85—
.12-85 @+ (85-120_ 2]
.73/30 2O+CE5-12Ix8 E3[k2]
-85) /30 ENTER
IOLCB5-120x0
9%(12 3. 6986
()
2% (5-4) /
2 2 ]EI=M
LHE1 =N [@ENTER) /
8. 8808 (e / )
LOGC1@) (<] [xel [N ]ED] I )
i.06846 ENTER (10
EXPC2D ¥=3) (e1) (2] ENTER) /
73591
ALOGC2y|  (EW)([07) 2)ENTER) ) /
1008 . BEEA (

5-C ALG:



(MODE] (1)1 0EC)

(SIN) (3] (0] (ENTER]

SINC3@) Sine of x. X
|. 5884
coscesr|  (COS)(6)(0)ENTER] | Cosine of x. X
|, 588A
TANC45)|  [ANI(4)E)ENTER] | Tangent of x. X
1. 88848
ASINC1y| [EEASN](T)ENTER) | Arc sine of x. X
26 . BEEA
ACOSC@»| [E)(ACOS)(0)(ENTER) | Arc cosine of bs
28 . Baaa
X.
ATANCEY| EE)ATAN) (Q)ENTER) | Arc tangent of | X
|, 8884
X.
ENTER =) SN, Hyperbolic sine of x
(SINH).
ENTER (<] (Cos), Hyperbolic cosine of x
(COSH).
ENTER =) [TAN), Hyperbolic tangent of x
(TANH).
&) HYP)[E) (ASN), Hyperbolic arc sine of x
(ASINH).
&) [HYP)IE) (ACOS), Hyperbolic arc cosine of x
(ACOSH).
=) (HYP) ) (ATAN], Hyperbolic arc tangent of
x (ATANH).

6 -C ALG:




IF(2.47) @OC)6)(EIF) D@D 47 2

2. BE0E ENTER
FF(2.47) [@NC)E)(SFP)@EO@@ 47 2
8. 4700
ABS(-72 =) 7-
7 . BE0E
SGHCSY (@[N] (1)( 1 5GH) (2 ENTER) 9
1. 086
INTG(-5.3) ([E)INIG) @)(4IMTG)EABEIE
-5 . @8EAE (3](ENTER] . 35-
/
- Z- Y- X- - =)
=)
T =)
Y
MY 2T
valve
=)
MY 2T
valve
(x| ) @3]

REGT REGZ REGY REGH

7-C ALG:



.RPN ALG - 7Z- Y- X-
.RPN ALG RPN ALG
(6 " " ) . 1
/
2
, ,EQN] 3
(X )
@A ) 4
i /
1
i 2
.3
Htwd /
A
2
.3
4
(G
Jssldadr. .1
bos| e mRE? .2
d=sld a8 .3
1

8-C ALG:



.z
ENTER
2
.[MODE]
. 21
.22
2
.[MODE]
sin (2+3/)
() (DISPLAY] (9] (S i)
SIMCZ + 340 EN@2)HEHE]
9.1545 SIMCZ2+ 300 ENTER

2.154541-4. 1689
i-4.1689

z1+(z2+23)

23=4-3i z2=-2+i z7=23+13i

9-C ALG:

U LN R



&) DisPAY) (111

(lElx+y'i»)

@ -2+ +4-34) 0] 2IE3HWEIGE])
2130 @@
EH@EEE

(23 + 1310502+, .. ENTER

2.5000 + 9.0000 i o, SAEE+T . ARG

(4—2/51)x(3—2/31) :

@5ir=03-0 2-340 OAEO@mO®E
> MEIE=EME
@&

C4-8 2-5140x(3. .. ENTER

16 8,2 /

12F16 + EQA 14 =7

/ P (BASE) (2)(2HE )
HEX 16

12FheESAR (2 ()W) BASE)
FCsh E)(Eh)DEDE®

FCD (A7) (E58) (8 (6h
) ENTER)

10 - C ALG:



77608 — 43268="

.8 / 12Fh+E2AhR (/=) (BASE) (3)(30CT)
OCT ¥rilo

Fredo-43260  (1)(Z(e]0)I=)(EASE) (7]

24320 (?D)
=M@GEI2E]FE)
(BASE) (7)(7 ) (ENTER]
1 ()()é} = fSég:f?
188o+30  (1](0](0])@3)(BASE) (Z)(7
1d4ao

a)
HEmE EHE)(7o)

ENTER

5A07¢6+ 100110002 =?

/ SABh+ /@) [EASE) (2)(2HER)

HEX .16 EkraA@@Em)
e)(eh)xl

@fBh+1@81 18880 ()(0JO)TO]0]0]

(0) =) BASE] (8](Ek)

SABh+1881 1888k ENTER
£38h
SABh+b 18811688k T=)(EASE) (1)(1 DEC)
1,592, BE8E
/
( x y x X=9y) (x, y) ALG
X x Y y

/ ()=3]) (CLEAR]) (4] (4X)
[xY)
X

11 -C ALG:

U WN R



)1

12 - C ALG:

. (&= =)

2 n (
2 n=0
) Y, X
Yy X Yy X
20, 5 20, 4
40, 6 400, 6

) ([CER) (&) (43)

28 3+ 4)x=y](2]0](E]
1. @660
408 $+ (6](x=y)(4](0](0]
20088

LASTx =)
488 . G666
488 - =)
1. BE68

48 s+ EENEOE
2. Baan

e y- MW=
1. 6660

28 x+ Blx=y2)0]E]
2. 8868



( / ) LR. /
Y /

: (x )y v ) x
(B CRIGN(Y)) @ TR (%)
=)
(B) (m) (¥)

13-C ALG:






7 SOLVE
SOLVE
SOLVE
( ) SOLVE
/ fix) ) x f(x)
SOLVE  .(x /
f(x) X
f(x) SOLVE f(x)
X /
/ SOLVE
SOLVE
( )
f(x)
( X
( b )x | f(x)
( ,C ) f(x)
flx) fix)
( d )



f (%) f(x)

A

—
a b
f(x) f(x)
A A

c d

Function Whose Roots Can Be Found

, . flx)=0
( 12



SOLVE

flx)

( a ) - f(x)
12 , fix)
( b ) X
( )
.(0,-10-499) (0, 10—499)
f(x) f(x)
s
() &) ,
fix) Z fx)
f(x)

2x3+4x2-6x+8=0



fx)

—2xHItduE 2-cmp

CkK=B3A0
LH=1%

18

—2HANI+duE E-Emp

SOLMING
"=
1.65086

1.6586

-4, BEBEE-11

2+ x-6=0.

CA@Ix]

Re X&)
H4)x]

RE X129 (2]
(=)Ce] x]RCU(X]
&) (sHow]

(¥2]
BEE
Z o)

[I=3) (SOLVE

AR



FaR=t

Ck=35371
LH=F

18

Rt

SOLMING
W=

100 2. Baan

2. Baan

fix)=0. B OEEEEAEEEEE

-8
HoEHH-E
SOLVING

W=

-10 0 -3. 8080

f(x) = 0. 0. BEEEEREEEEE

SOLVE X
fix)

R X))

m
g
z

oS
B

RCL
=)

C£m
z

27
o EE

(=) (soLvE] (X]

RY

Ri) (&) (SHOW]
(0] (STO) (X
(ENTER]) (1] (0] (4]
(EQN)

=) (soLvE] (X]

(RY) (&) (SHOW



flx)

f(x)
SOLVE . ( b
, X /
; 12 X
f(x) f(x) ,
‘ %
> X : > X
A (
a b
Special Case: A Discontinuity and a Pole
IP(x) = 1.5
(6 ([TG) (€)( 1)
RaXxI]&E=(E=)
IFPCE»=1.5 (1)) (5] (ENTER)
CK=D2C1 &) (SHOW)
LH=5



5 ENTER
IFCH»=1.5 EQN
SOLYING (1) (SOLVE)
}c::
2. aa8a
1.99993359939 =)
2. ARERERBAEAE R)E=N)
f(x) -0.5088
f(x)
X = 1.99999999999 ) f(x)
f(x)
X
~1=0
x2 -6
f) V6



f(x)

nroEcZ2-gr-1
CK=F352
LH=11

2.7

nTiR~2-gr-1

MO ROOT FHO

Re)XJ(=O]
RE(X1A (2]
=) 2]
(=)1)(ENTER

(&) SHOW

C

[
@

2]
STO

NEL
LE
GE

m
E
Z

=) (soLvE] (X]

- HO ROOT FHD

flx) -

.SOLVE

SOLVE

SOLVE



f (x)

f (x)

\4
X

» X
b
f (x)
v
c
Case Where No Root Is Found
x2 - 6x+13=0.
x=3
RCL (2]
=) XIRELX]
Ke2-Exi+13 (T3] ENTER)
CK=EC74 =)
LH=18@



10-D

.10 O

18

Heg-gxRE+13

MO ROOT FHO

10-—-=0

18-THWCED

Ck=cERE
LH=2

5_
18-THU ()

"=
B, 1866

B. 16880

B, BREREEREEAE

=) SOLVE

m
e
Z

7
5

7
BE
S

=

7

el
¢
g E

=
m
el

Bo
==
2o

[
E@

m
g
zZ

[73) (SOLE

(RY) (&) [sHOW



-l.eeee  CA0)E)E0O)X]

18-THWE ) (2]EaN)
X = (/=) (SOLVE] (X]
A, 168686
x=(x+0.3)]]-05=0
)RE X](=)O]
R XJHCE)
211E=E3E)
SORTCR+CE+8. 200w
CK=5F3E (&) (SHOW]
LH=12
(0] ) (sTO
16 ENTER]) (1](0]
SORTCR+CE+8. 2000 EQN
w= [73) (SOLVE
.10 0 B. 1884

11-D



12-D

f(x)

.-10 0

-18_ ENTER]) (21 (1)

SERTCA+CH+B. 320w

MO ROOT FHO

x< -1

if x>1

(>1]Sire)

Bk

EQN

=) (SOLVE

9412 39

-03 0

f(x) = x + 2
f(ix) =1

f(x) = —x + 2

,RPN

JTaal LEL T
Taaz 1
JTaaz 2

JTaad4 RCL+ =
JEAS ww?
JTaae RTH
Jaav 4
Taag -
TEES +--
TJEL1E wiw?
Tall BV
JTal1z2 RTH



—10-8 10-8

x

(RPN

)
W8]
EELa B E7A | ] [Sire] | BE K E

(ElC8)

nyn -1.6086E-8 &=FEN=))
X M= @) (SovE) (X]
-2 . BE0E
( 12
SOLVE

[(|x|+1)+10"°-10°=0

SOLVE 2 1 - fix)

1.0000

SOLVE

‘x2-7‘=0

SOLVE /

13-D



14 -D

CHOROOT FHOD



f(x) [FH dx

flx)
- fix) -

f(x)

() flx)

f(x)



(

flx)

flx)

flx)

HP 35s

flx)



flx)
flx)

0

xe *dx.
0

10499



f(x) = xe=x

/

HxERPCO)  REJXIX)E)

HHERP (=KD

CK=2FE& =)
LH=3
SCl 3
10499
v
(&) (DisPLAY) (2](25CT)
lE433 . IErsR@EE@
2K
/ HaERP (=5
IMTEGRATIMG =X
=]
@ . AEAER
0 f(x) = xe=x
10499 10499 o0
f(x) 1



f (x)

flx)
ALL SCI 11 /
/



flx)

K]
Wa .
L
£2%
T g
(7] v
= 2 7
8+ o
529
[T g
i3
COM

Lo

X

A 4

s <

Calculated integral

of this function
may be inaccurate.

6-F (



flx) = xe=x

.103 10499

1£3_ (0 (ENTER) (D)(E)

/ HeEHP (-8

IMTEGRATIHG
=]

1. 088ER
1.6088E-3

3]

(<]|WA[Bq]



8-F (

f (x)










( )
, A
/ =]
/ :
(FM=label) 1 : FM ACTIVE |
( JFH d variable) FHY [ ¢
, ¢SOLVED |
(&) MEm) (1] (1YAR)) / ALL YARS=8
SOLVING ( ) BEAD GUESS
CALCULATIMG
/ CLR ALL? ¥ M
) / CLR EQH7 ¥ M
(
) / CLR PGMS? ¥ M
(
(&) (%CHG) ) DIVIDE BY @
( Y

1-F ()



r>n

90

[ FN

.PGM EQN RPN ALG

! ! EGH LIST TOP

SOLVE CALCULATE

.n>1016 ,n r
n /
/
/
x=y]
X ]

X > x< =1

x> 1

x <=1

x< 1

gamma

M) ASIN) ([F=3)(ACOS]
(&) (HYP] (I 3] (ATAN]) =
(&X)(HYP) ()I3] (ACOS ] =

factorial

OUPLICAT.LEL

EGH LIST TOF

IMTEGRATIMG

IMTERRUFTED

IMVALID DATAH

IMVALID VAR

IMVALID !



/ IMVALID w*

oth ( ) 0 ]
/ "
(0+i0) n
(1) ) INVALID €I
() ) INVALID T2
.(0 +i0) LOG(@D
LOG{HEG?
.(B-3 ) / MEMORY CLERAR
.(B ) MEMORY FULL
) MO
(
( ) / HOMEXISTENT
MOMEXISTEMT FH ,
/ ( ) .
/ .
(&) MEM)(2] (2FGH)) / HO LABELS
/ MO SOLUTION
/ MULT SOLUTIOH
(PGM EQN [/ ) SOLVE MO ROOT FHO
.(D-8 )
, / ,
, SOLVE
( SO0LVE )

3-F ( )



SOLVE

(17-1

(JFN  SOLVE

f FH d variable

SOLVE

( )
19.99999999999E499

;o)

" " FREGH TOF

SOLME varigble ()

MEMORY CLERAR [FN  soLVE

(FH=label)

/

SOLVE

OVERFLOMW

FREGH TOF

RUHHIHNG [5]

SELECT FH

SOLVE ACTIVE

SOLVECSOLVE?

FH» [SOLVEC

SOLVIMG

SERTCHEG?



SOLVE

.BIN  OCT ,HEX

3
>
x>

.—34,359,738,368 < n <34,359,738,367

) 21st

HER

[ FN  sOLVE

STAT ERROR

SYMTAA ERROR

TOOEBIG

WER OVERFLOW

20

YES

235-0K
235-FRIL n

© ZBay¥ HP DEV CO. L. P,

5-F ( )






BN M (1F1%) FIX n
.
/
(~DEG )
*
15-1 (£])Changes the sign of a number. +/-
19-1 Addition. Returns y + x. y+Xx +
19-1 (=) Subtraction. Returns y — x. y—X -
19-1 Multiplication. Returns y x x. Y XX x
19-1 (£] Division. Returns y + x. Y+ X +
16-6 Power. Indicates an exponent. / . n
4-1 Deletes the last digit keyed in; clears
8-1 x; clears a menu; erases last / X /
3-6 function keyed in an equation;
deletes an equation; deletes a
/=13 program step.
28-1 Displays previous entry in catalog;
3-6 moves fo previous equation in /
11-13 equation list; moves program
ointer to previous step.
20-13 P P P
28-1 Displays next entry in catalog;
3-6 moves to next equation in equation /
11-13 list; moves program pointer to next
line (during program entry); executes
20-13 9 prog v
the current program line (not during )
program entry). )
(




14-1 Moves the cursor and does not or 2]
delete any content.
11-1 Scrolls the display to show more mEJor
4-6 digits to the left and right; displays =]
8-11 the rest of an equation or binary
number; goes the next menu page in
the CONST and SUMS menus.
.SUMS CONST
3-6 Goes to the top line of the equation =)
or the first line of the last label in
program mode. /
/
3-6 Goes to the last line of the equation [~]]
or the first line of the next label in
program mode. /
/
1 5-6 (&) ]Separates the two or three &) p
arguments of a function.
1 18-1 Reciprocal. / 1/x
1 2-4 =) Common exponential. / =) 10x
Returns 10 raised to the x power. 10 . /
x ()
1 6-4 (|2) (%] Percent. =% %
Returns (y x x) + 100.
.(yxx)+100
1 6-4 =) Percent change. =) %CHG
Returns (x — y)(100 =+ y). .(x—y)(100 +y)
1 3-4 [<]] Returns the approximation [<]] n
3.14159265359 (12 digits). ( 12) 3.14159265359
| 2-12 Accumulates (y, x) info statistics (v, x) / >+
+ registers.
| 2-12 =) Removes (y, x) from (v, x) =) -
- statistics registers.
T 12 B s 51 (29) B s ) (%) x
Returns the sum of x-values. X
1 11-12 | S 0 (39 @ 5w 51515 52
Returns the sum of squares of x- X (2x%)
values.
T 11-12 EEM) 101513 | \EM) )]0 1010 Xy
(Bxw) (E=w)
Returns the sum of products of x-and
y-values.




11-12 =) (sums)>1>] (Ev) @) SuMs) 10> (2v) Iy
Returns the sum of y-values. y
11-12 | @) BuMs) 11515 (29 =) sums) > 10102102 sy?
Returns the sum of squares of y- Y (2¢2)
values.
7-12 | @) a2 (o%) B3 510 (o) ox
Returns population standard
deviation of x-values: »
—\2
x. —X) +n
Z( i ) Z(Xi_x)Z_n
7-12 | @ S0 10]0] (ov) @) 5102122 (ov) oy
Returns population standard
deviation of y-values: ly
Z(y,'_y)2+n \/Z(yy‘_y)2+n
2-8 FNd ) [@( |variable @) ( JFH d )| FNd variable|
7-15 Integrates the displayed equation or ()
the program selected by FN=, using
lower limit of the variable of
integration in the Y-register and FN=
upper limit of the variable of
infegration in the X-register. Y
X
6-6 (O] parenthesis. press to leave |.LQ]parenthesis ( / ) ()
the parenthesis for further
calculation.
1-10 B3] 1]): A vector symbol for =] []
performing vector operations
1-9 | E)8]: A complex number symbol =) e l: 0
for performing complex number
operations
4-6 (RCL)variable Value of named RCWvariable( ) A through Z
variable. .
]7_4 @ AbSOIU"e VG/Ue. . ‘X‘ @ ABS
‘X‘ Returns
4-4 =) Arc cosine. [>] ACOS
Returns cos ~1x. .cos ~1x
6-4 &) HYP) =) &) HYP)(E) ACOSH
Hyperbolic arc cosine.
Returns cosh ~1 x.
.cosh -1 x
9-1 Activates Algebraic mode. / @)4A

3-G




LG)
1 16-6 =) Common exponential. / [~] ALOG
Returns 10 raised fo the specified / 10
power (antilogarithm). A ).
23-1 (&) (DISPLAY] (4])(4ALL) (&) (DisPLAY) (4] (4ALL) AlL
Displays all significant digits. May
have to scroll right (I2](>]) to see (E=)))
all of the digits.
T | 4-17 &) [IOGIC) (1)(1AND) &) (IOGIC)(O)(1AND) AND
Logic operator .
1| 14-4 =) =) ARG
Replaces a complex number with its
Argument 8" 9"
1 4-4 /=) (ASN)Arc sine /) (ASN]Arc sine ASIN
Returns sin =1 x. .sin—1x
1 6-4 &) HYP) (=) &) HYP)E) ASINH
Hyperbolic arc sine.
Returns sinh =1 x.
.sinh -1 x
1 4-4 =) Arc fangent. / =) ATAN
Returns tan =1 x. tan-1x
1 6-4 &) HYP) (=) &) [HYP) (=) ATANH
Hyperbolic arc tangent. /
Returns tanh =1 x. tanh-1x
1112 | @ mRmOIsle) | s sss] (k) b
Returns the y—intercept of the y /
. X — mY regression line: - v
9 X —mY
1] 2-11 =) (BASE](8] (Bb) /=) (BASE) (8] (Bb) b
Indicates a binary number
1-11 Displays the base—conversion menu. =)
/
1-11 (/3] (BASE](4)(4EIN) /3] [BASE])[(4](4EIH) BIN
Selects Binary (base 2) mode. | (2 ) /
1-1 Turns on calculator; clears x; clears /
4-1 messages and prompts; cancels / X
8-1 menus; cancels catalogs; cancels
equation entry; cancels program /
29-1 entry; halts execution of an equation;
3-6 halts a running program.
7-13
19-13




4-5 =) Denominator. / =) Denominator. /c
Sets denominator limit for displayed .
fractions to x. If x = 1, displays /
current /c value. X
/c x=1
14-4 =) Converts ° F to ° C. LC  °F =) —=°C
12-14 (€%) (FLAGS) (2] (2CF) n €Y) [FLAGS) (2] (2CF) CFn
Clears flag n (n = O through 11). | 0 n )n /
(11
5-1 Displays menu to clear numbers or / =)
28-1 parts of memory; clears indicated
variable or program from a MEM /
catalog; clears displayed equation; /
/ . MEM
29-1 Clears all stored data, equations, / [~]]
and programs.
(3ALL)
23-13 Clears all programs (calculator in ) / =)
Program mode). ( / 1|
(3PGM)
7-13 Clears the displayed equation / =)
(calculator in Equation mode). / ) ]
( (IEQN)
1-12 75) (CLEAR) () (43) /) (e ) (43) cls
Clears statistics registers.
6-3 /=) (CLEAR] (2] (2WARS) =) (2] (2VYARS) CLVARS
Clears all variables to zero. /
3-2 =) CLEAR]) (O] (1) [ @) [CEAR) (1] (1) Clx
7-2 Clears x (the X-register) o zero. (X )
7-13
4-1 73) [CLEAR) (6] (SCLYARX) 73) [CIEAR) (6] (SCLVARx) CLVARx
Clears indirect variables whose /
address is greater than the x
X
address to zero.
7-2 (/3] (CLEAR) (5] (S5TK) =) (CLEAR) (5] (S5TK) CLSTK
Clears all stack levels to zero. /
14-4 =) Converts inches o =) —CM

centimeters.




follows.

1 15-4 | =) Combinations of nitems | n = nCr
taken r at a time. r
Returns n! = (r! (n = r)1).
nl=(rl(n=r)!
1 3-4 Cosine. Cosine COsS
Returns cos x. Cos x
1 6-4 =) Hyperbolic =) Hyperbolic COSH
cosine. Returns cosh x. cosine
cosh x
8-4 Accesses the 41 physics constants. 41 (B3N] (CONST]
T 1-11 /@) (BASE) (5] (54) /@) (BASE] (5] (54) d
indicates a decimal number .
1-11 (/3] (BASE] (1] (1DEC) (/=) (BASE) (1] (1DEL) DEC
Selects Decimal mode. /
4-4 (@) (1DEG) (73) (856) (1) (1DEE) DEG
Selects Degrees angular mode. /
1 13-4 [>] Radians to degrees. Radians =) —DEG
Returns (360/21r) X. |, (360/2m) x degrees
21-1 Displays menu fo set the display (=) (DISPLAY)
format, radix (+ or + ), thousand
separator, and display format of ,
complex number. ( )
18-14 =) variable =) variable(_is) DSE variable
Decrement, Skip if Equal or less. For
control number ccccccc. fffii stored in
a variable, subtracts ii (increment .
value) from ccccecc (counter value) ccceecc fffii
and, if the result <fff (final value), ( ) ii
skips the next program line. ( ) cceecee
( ) <fff
1 15-1 Begins entry of exponents and adds / (E]
"E" o the number being entered. g
Indicates that a power of 10 10 /




22-1 (W AN (B(3ENG)n () (DY) (31(3ENG) ENG n
Selects Engineering display with n
digits following the first digit (n = 0
through 11). n "
(11
22-1 Causes the exponent display for the (=ENGJand
number being displayed to change /
in multiple of 3.
19-1 Separates two numbers keyed in
4-6 sequentially; completes equation
11-6 entry; evaluates the displayed
equation (and stores result if )
appropriate). A
6-2 ENTER Y X ENTER ENTER
Copies x into the Y-register, lifts y 7
info the Z-register, lifts z into the T- t
register, and loses t. '
3-6 Activates or cancels (toggles) )
7-13 Equation—entry mode. /
1-4 E3)(eX] Natural exponential. / /[ m@3er] EX
Returns e raised to the x power. e
x()
16-6 [~] Natural exponential. / / =) EXP
Returns e raised to the specified e
power. ( )
14-4 =) Converts °C to °F. .°F =) —°F
1-5 Turns on and off Fraction—display ]
mode.
21-1 (DEPAY) (T(1F1%) n (DY) (D)(FI¥) n FXn
Selects Fixed display with n decimal n
places: 0 <n< 11. 0<n<11:
12-14 | Displays the menu to set, clear, and =)
test flags.
/
1-15 =) label &) FN = label
7-15 Selects labeled program as the
current function (used by SOLVE )
FN). ] and (] FN  SOLVE
Error! | &) (NTG)(5])(5FF) Fractional part &) (NTG) (5](5FF) FP
Referen of x. X
ce
source
not




4found.
17-
12-14

14-4

4-4

21-13

21-13

E) (FLAGS) (3)(3F57)
If flag n (n = O through 11) is set,
executes the next program line; if
flag n is clear, skips the next
program line.

=) Converts liters to

gallons.

(3GRD)Sets Grads

angular mode.

Sets program pointer to line nnn of
program label.

Sets program pointer to PRGM TOP.

7 EASE)6) (5h)

Indicates a hexadecimal number
) (BSE)(2) (2HEX)

Selects Hexadecimal (base 16)
mode.

Displays the HYP_ prefix for
hyperbolic functions.

&) (FLAGS)(3)(3FE7) n
(11 0 n)n

=)
(MODE] (3] (35RD)
.Grads

nnn

PRGM
.TOP

@) EAsE (&) (5h)

1@ BASE)(2) (2HEX)
) /
(16

HYP_

FS? n

= GAL

GRAD

] label

nnn

(cire] JEN R KX

HEX

&) (EYP)

13-4

13-4

2-9

4-6
21-14

14-4

@) (=HMS)

Hours to hours, minutes, seconds.
Converts x from a decimal fraction
to hours—minutes—seconds format.

=)

Hours, minutes, seconds to hours.
Converts x from hours—minutes—
seconds format to a decimal
fraction.

Used for entering complex numbers

(o] /W], ]/
. Value of variable whose letter
corresponds to the numeric value
stored in variable 1/].

=) Converts centimeters to

inches.

@) =M

Re) (] /), o) ] /)
/

JI

&) [=in)

—HMS

HMS—

]

(/)

=N




16-6

18

4

13-13

(%) (TG) (Z)(2INT-) Produces
the quotient of a division operation
involving two integers.

=) (2)(ZIMT-+) Produces

the quotient of a division operation
involving two integers.

([N (INTG] (4](4INTE) Obtains the

greatest integer equal to or less than
given number.

=) variable

Recalls the variable to the X—
register, displays the variable's
name and value, and halts program
execution. Pressing (to resume
program execution) or (to
execute the current program line)
stores your input in the variable.
(Used only in programs.)

N (NTG) (2)(2INT-)

ENNIG) (Z)(2INT+)

BN [NTG) (4)(4INTEG)

=) variable ()
X

DIV

INT=+

INTG

INPUT variable

16-6

17-4

18-14

Reciprocal of argument.

=) (6])(=1IF) Integer part

of x.

=) variable

Increment, Skip if Greater.

For control number ccccecc. fffii
stored in variable, adds ii

/

. E(TG) (6] (1F)

X.

&) (sc)

ccccccc. fffii

INV

P

ISG variable

9-G




(increment value) to ccccece ) cccccce ) i
(counter value) and, if the result >
fff (final value), skips the next ) > ff (
program line. (
1 14-4 =) Converts pounds to =) —KG
kilograms.
1 14-4 /=) (=kM] Converts miles to. B)=kM)| 5 KM
kilometers
1 14-4 (/3] (=) Converts gallons to @) =] 51
liters.
8-2 =) =) LASTx
Returns number stored in the LAST X
X register. ’
1| 144 = B =B -
Converts kilograms to pounds.
3-13 =) label =) label ( [/ )| LBL label
Labels a program with a single /
letter for reference by the XEQ, XE
GTO, or FN= operations. (Used Q
only in programs.) |. FN= operations( ) GTO
( )
1 1-4 B3] (LN] Natural logarithm. / =) LN
Returns log ¢ x. 10g o X
1 1-4 =) Common logarithm. =) LOG
Returns log 70 x.
Jdogio x
4-12 Displays menu for linear =)
regression. /
1 7-12 &) LRI (m) &) LRI ()| m
Returns the slope of the regression :
2 3%\~ V Vv lina: ] _ —_ _
)2 X )+2(xi~ Y )y~ X line: [Z(xj- )23 )2 (xi~Y Ny~ X [Z(xi-
*
14-4 (&X](=MILE) Converts kilometers (&) (=MILE]| - MILE
to miles.
28-1 Displays the amount of available =)
memory and the catalog menu. /
22-13 Begins catalog of programs. / =) 2]
(2PGHM)
4-3 Begins catalog of variables. / =) N
(1VAR)
7-1 Displays menu to set ALG or RPN
mode or angular modes.

10-G




4-4 RPN ALG [
/
11-12 =) [SUMS)(n) =) (sums](m)|n
Returns the number of sefs of data
points.
4-11 (€ ([0GIC) (5] (SHAND) € (I0GIC) (5] (SNAND) | NAND
Logic operator .
4-11 EN0GIC) (6) (640R) EW(OG) (6] (5K0R) |NOR
Logic operator .
4-11 EN(0GIC) (4] (4N0T) EW(OGIC) (4] (4HAT) | NOT
Logic operator .
2-11 ©E) B8 7 (7o) ®E) BSE T (70) |o
Indicates an octal number .
1-11 /=) (BASE)(3] (30CT) =) (BASE)(3) (SOCT)| OCT
Selects Octal (base 8) mode. / ) /
.(8
4-11 €W ([05I) (3) (30F) B (I05I) (3) (30F) | OR
Logic operator .
1-1 Turns the calculator off. =)
15-4 =) Permutations of n items n =) nPr
taken r at a time. Returns nl+(n - nl=(n—r)! r
| ! .
6-13 Activates or cancels (foggles) ( ) [>]]
Program—-entry mode.
18-13 =) Pause. PSE
19-13 Halts program execution briefly to X
display x, variable, or equation,
then resumes. (Used only in
programs.) ( )
7-12 =) (¥) Returns =) ()| r
the correlation coefficient Ty X
between the x- and y-values:
LS ii)(yi —)7)7 : 3 (% - X)y: )
V2 =Xy =) D% xly, — P
25-1 0800 (0000 | EM(EEAAN (T10] (18 () S oo |10
Changes the display of complex | JSu 5, ellde d_alall sls__cN
numbers. Al
4-4 (MODE) (1) (1RAD) [MODE) (1] (1RAD)| RAD
Selects Radians angular mode.

11

-G




. radians

1 13-4 (&) [=RAD] Degrees to radians. .radians =) —RAD
Returns (27/360) x. .(271/360) x
23-1 () (A (61 (6 (€ (057A7) (6] (6 ¢ )| RADIX,
Selects the comma as the radix ( )
mark (decimal point). ’
23-1 &) (DISPLAY) (5] (5 +) &) ([DIPLAY) (5] (5 - )| RADIX .
Selects the period as the radix A )
mark (decimal point).
1 15-4 =) Executes the | .RANDOM =) RANDOM
RANDOM function. Returns a
random number in the range O R 0
through 1.
7-3 RCL] varigble / RCL]| RCL variable
Recall. X
Copies variable into the X-
register.
7-3 variable variable ()| RCL+ variable
Returns x + variable.
+ X
7-3 (=] variable. = ( )| RCL- variable
Returns x — variable.
- X
7-3 variable. ( )| RCLx variable
Returns x x variable.
. X X
7-3 (] variable. (&) ( )|RCL= variable
Returns x + variable.
+ x
*
1] 1676 (=) (INTG) (3)(3Rmdr) [EN(INTG) (3)(3Rmdr) | RMDR
Produces the remainder of a
division operation involving two
integers.
1 18-4 (&) (RNDJRound. n X (&) RNDJRound| RND
8-5 Rounds x to n decimal places in /
FIX n display mode; to n + 1 ] -
significant digits in SCl n or ENG n+ n
n display mode; or to decimal |SCIn /
number closest to displayed ENG

fraction in Fraction—display mode.

12-G




/
9-1 (MODE] (5])(SRFH)Activates (MODE] (5](SRFH)
Reverse Polish notation.
4-13 =) Return. =) Return| RTN
2-14 Marks the end of a program; the
program pointer returns to the top /
or to the calling routine.
3-2 Roll down. .[RY) Roll down RV
Error! Moves tto the Z-register, z fo the 7 7 t
Bookmar Y—;{eglsier},1 y_lt_o 1hg X—rggn;t;z « X v Y
k not and x to the T-register in
. mode. .RPN / T
defined. Displays the X,Y,Z,T menu to
review the stack in ALG mode. T Z VY X
ALG /
3-2 =) Roll up. =) Roll up RN
Error! Moves t to the X-register, z to the
Bookmar T-register, y to the Z-register, z X t
k not and x to the Y-register in RPN x 7 T
. ° mode. Y
defined. .RPN  / Y
Displays the X,Y,Z,T menu to
review the stack in ALG mode. T ZY X
/
ALG
4-12 Displays the standard-deviation =)
Menu.
22-1 &) DSPLAY) (2)(25CT) n (&) (DISPLAY] (2)(25C 1) | SCln
Selects Scientific display with n
decimal places. (n=0 thro]u]gP; o n ) .n
(11
15-4 (&) (SEED]Restarts the random- =) SEED
number sequence with the seed _ |x|
N
12-14 (€%) (FLAGS) (T)(15F) n /€ EAGS)(15F) n| SF n
Sets flag n (n = O through 11). (11 0 n )n /
17-4 (B (INTG) (1 )(15GH) Indicates &) (INTG) (1 )(15GH)| SGN
the sign of x. X
13-G




19-6
23-13

1 3-4

1 6-4

1-7

1-15

1 14-14

1 16-6
1 16-6

2-3

6-3

6-3

6-3

6-3

Shows the full mantissa (all 12
digits) of x (or the number in the
current program line); displays
hex checksum and decimal byte
length for equations and
programs.

Sine.

Returns sin x.

=) Hyperbolic sine.

Returns sinh x.

=) variable

Solves the displayed equation or
the program selected by FN=,
using initial estimates in variable
and x.

Inserts a blank space character
during equation entry.

(/3] (x?) Square of argument.
Square root of x.

=) variable

Store. Copies x info variable.

[~>]]Eie]] variable

Stores variable + x into variable.

3] (STC] (=) variable

Stores variable — x into variable.

=) (s10] variable

Stores variable x x into variable.

/=) (STO) (=] variable

Stores variable + x into variable.

Sine.
.sin X

=) Hyperbolic sine

.sinh x

(/2)(SOLVE]) variable ()

FN=

=3
X

) (STO) variable ()
X

=) (0] variable ()
X+ « )

=) (STC) (= variable ()

X -

) (SO (X variable ()
X X

W) (STQ) E variable ()

X =

() SHOW

SIN

SINH

(I=)SOLVE variable

(/=) (SPACE

SQ
SQRT

STO variable

STO + variable

STO - variable

STO x variable

STO = variable

19-13

Run/stop.

Begins program execution at the
current program line; stops a
running program and displays the
X-register.

Displays the summation menu.

/

STOP

=) SUMS

14 -G




6-4

4-3
15-13

12-6

B 52l (=x)
Returns sample standard
deviation of x-values:

V2 =%+ (n-1)

B 5O (=)
Returns sample standard
deviation of y-values:

Dby =7+

Tangent. Returns tan x.

=) Hyperbolic
fangent.
Returns tanh x.

(=) (VIEW] variable

Displays the labeled contents of
variable without recalling the
value to the stack.

Evaluates the displayed equation.

label
Executes the program identified

by label.
3] (x2) Square of x.
Square root of x.

=) The xth root of y.

@) 539 (5%)

X

V2 =% +(n-1)
@ A (5v)

Yy

Dby, =y (=)

.tan x /

TAN

/ &) HYP) TAN]

.tanh x

=) variable ()
/

label ( / )

X [>]1]E|
X

&=

Y xth

sy

TAN

TANH

VIEW variable

XEQ

XEQ label

X2

xy

4-12

EA<1]E32]|
Returns the mean of x values:
Z Xj+n.

) * EED(

ZX+n

x|

11-12

15-4

)= =) (

Given a y-value in the X-register,
returns the x—estimate based on

= (y - b) + X the regression line:
m.

(/3] (] Factorial (or gamma).
Returns (x)(x — 1) ... (2)(1), or T (x

=(y-b)+mX

=

(gamma )

>

15-G




+1). ()(x=1)...(2)(1), or T (x + 1)
16-6 &) (2] The argument; root of .2 1 &) 2] | XROOT
argument?.
4-12 w Returns ® @NE 0] ( |jw)* @IEDCI] ( wX
weighted mean of x values:
(Zyixi) + Zyi. X
(Zyix)) + Zy;
4-12 Displays the mean (arithmetic ) =)
average) menu. (
8-3 =) x exchange. X =) x<> variable
Exchanges x with a variable.
X
4-2 x exchange y. .y X xX<>y
Moves x to the Y-register and y
to the X-register. X y Y X
7-14 Displays the "x?y" comparison =)
tests menu. Sx?y"
7-14 (<] (=) =) (#)| x2y
If x2y, executes next program
line; X2y
if x=y, skips next program line.
X=y
7-14 &) X202 (<) &) X222 ()] x<y?
If x<y, executes next program
line; x<y
if x>y, skips next program line.
x>y
7-14 &) X212 1(<) &) X200 (<)| x<y?
If x<y, executes next program
line; X<y
if x>y, skips next program line.
x=y
7-14 &) N2 (5) &) 220101 (3)| xy?
If x>y, executes next program
line; x>y
if x<y, skips next program line.

16 -G




X<y

7-14 &) NI (2) &) X2 01010210] (2) xy?
If x>y, executes next program
line; xzy
if x<y, skips next program line.
X<y
7-14 =) &) E 110 (5) =y?
(%)
If x=y, executes next program Xx=y
line;
if xy, skips next program line.
XZy
7-14 Displays the "x?0" comparison =)
tests menu. x?0"
7-14 =) () =) (#)| %207
If x20, executes next program
line; x20
if x=0, skips the next program
line.
x=0
7-14 = @5 @) @05 (<) x<0?
If x<O, executes next program
line; x<0
if x>0, skips next program line.
x>0
714 B 05100 (4 B 510 (<)|x<0?
If x<0, executes next program
line; x<0
if x>0, skips next program line.
x=0
7-14 @) x20)> 1012 (5) @) x20)0> 10102 ()] x0?
If x>0, executes next program
line; x>0
if x<0, skips next program line.
x<0
7-14 @) X201 10101 (2) @) x20)> 101021021 (2) =07

If x>0, executes next program
line;
if x<0, skips next program line.

x>0

17 -G




x<0
7-14 | =) @) x20) 10102102121 (=) x=0?
(=) x=0
If x=0, executes next program
line;
if x20, skips next program lire: x£0
4-11 & (IOCIC]) (2](2+0R) [EN)(I0GIC) (2)(2+0R) | XOR
Logic operator
11-4 BN ) (33 ) (E(OEPA (2)(34+) | iy
Changes display of complex
numbers. .
25-1 ) OsPIAY) () ()(1 L+ ede) @) DISPLAY) () (1 1) | xtyi
Changes display of complex
numbers. ALG mode only. . ALG
4-12 )7 B EC] () v @ GG ( y
Returns the mean of y values. y /
Zyi+n. Syi+n
11-12 )o@ LRI ( |)* @) TR ( y
Given an x-value in the X-
register, returns the y—estimate X X
= ¥ based on the regression line: y
mx + b.
=mx+b.Y
-4 Power. Power ([ )|y
Returns y raised to the xth power. | . th. / y

18-G




Special Characters
[ FN. See integration

% functions, 4-6
¢4, 1-15
] (in fractions), 1-26
n, 4-3, A-2

A v annunciator
in fractions, 5-2
in fractions, 5-3

@« ®» annunciators
equations, 67
binary numbers, 11-8
equations, 13-7
). See backspace key

_. See digit-entry cursor

(1. See integration
K3 I annunciators, 1-3

© annunciator, 1-1, A-

3

A

A..Z annunciator, 1-3, 3-
2, 6-4

absolute value (real
number), 4-17

addressing

indirect, 14-20, 14-21,
14-23

ALG, 1-9

compared to equations,
13-4

in programs, 13-4

Algebraic mode, 1-9

%

A.Z

ALG

ALL format. See display
format

in equations, 6-5

in programs, 13-7
sefting, 1-23

alpha characters, 1-3

angles

between vectors, 10-5
converting format, 4-13
converting units, 4-13
implied units, 4-4, A-2

angular mode, 4-4, A-2,
B—4

annunciators

alpha, 1-3

battery, 1-1, A-3

flags, 14-12

list of, 1-13

low—power, 1-1, A-3
shift keys, 1-2

answers o questions, A-1
arithmetic

binary, 11-4

general procedure, 1-18
hexadecimal, 11-4

intermediate results, 2—
12

long calculations, 2-12
octal, 11-4

order of calculation, 2—-
14

stack operation, 2-5, 9-2

assignment equations, 6—

ALL



9,6-11,6-12, 7-1

B

backspace key
canceling VIEW, 3-4
clearing messages, 1-4

clearing X-register, 2-3,
X 1 2-7

deleting program lines,

13-20
equation entry, 1-4
leaving menus, 1-4, 1-8
operation, 1-4
balance (finance), 17-1
base

affects display, 11-6
arithmetic, 11-4
converting, 11-2
default, B-4
programs, 11-8, 13-25
setting, 11-1
base mode
default, B-4

equations, 6-5, 6-11,
13-25

programming, 13-25
sefting, 13-25
batteries, 1-1, A-3
Bessel function, 8-3

best-fit regression, 12-7,
16-1, C-13

BIN annunciator, 11-1

binary numbers. See

VIEW

Bessel

BIN

numbers

arithmetic, 11-4
converting to, 11-2
range of, 11-7

scrolling, 11-8

typing, 11-1

viewing all digits, 11-8
borrower (finance), 17-1

branching, 14-2, 14-16,
15-7

C

%CHG arguments, 4-6,
C-3

adjusting contrast, 1-1
canceling prompts, 1-4

canceling VIEW, 3-4
clearing messages, 1-4

clearing X-register, 2-3,
2-7

leaving catalogs, 1-4
leaving menus, 1-4, 1-8
on and off, 1-1
operation, 1-4

/c value, 5-4

leaving Equation mode, 6-

3

leaving Equation mode, 6-
4

canceling prompts, 6-14
stopping SOLVE, 7-8
stopping integration, 8-2

leaving Program mode,
13-7

CHG%

VIEW

c/

SOLVE



leaving Program mode,

13-7
canceling prompts, 13-15

interrupting programs, 13-
19

stopping SOLVE, 15-1
stopping integration, 15-8
/c value, B—4

/c value, B-6

calculator

adjusting contrast, 1-1
default settings, B—4
environmental limits, A-2
questions about, A-1
resetting, A-4, B-2
self—test, A-5

shorting contacts, A-5

testing operation, A-4, A-
5

turning on and off, 1-1
cash flows, 17-1
catalogs

leaving, 1-4

program, 1-28, 13-22
using, 1-28

variable, 1-28, 3-4
chain calculations, 2-12

change-percentage
functions, 4-6

changing sign of numbers,
1-15, 9-3

checksums

equations, 6-19, 13-7,
13-24

programs, 13-22

CLEAR menu, 1-5
clearing
equations, 6-9

general information, 1-4

SOLVE memory, 1-29, A-1

numbers, 1-17

c/ programs, 1-29, 13-23
c/ statistics registers, 12-2
variables, 1-28

X-register, 2-3, 2-7

clearing memory, A-4, B-
3

combinations, 4-15

commas (in numbers), 1-

23, A-1

comparison tests, 14-7
complex numbers
argument valuve, 4-17
coordinate systems, 9-5
entering, 9-1

on stack, 9-2

operations, 9-2

viewing, 9-2

conditional tests, 14-6,
14-7, 14-9, 14-12, 14~
17

constant (filling stack), 2-7
Continuous Memory, 1-1
contrast adjustment, 1-1
conversion functions, 4-10
conversions

angle format, 4-13

angle units, 4-13

coordinates, 4-10

CLEAR



length units, 4-14
mass units, 4-14

number bases, 10-1, 11-

1

temperature units, 4-14
time format, 4-13
volume units, 4-14
coordinates

converting, 4-10

correlation coefficient, 12—
8, 16-1

cosine (trig), 4-4, 9-3, C-
6

curve fitting, 12-8, 16-1

D

Decimal mode. See base
mode

decimal point, A-1
degrees
angle units, 4-4, A-2

converting to radians, 4—

14
denominators

controlling, 5-4, 14-10,
14-14

range of, 1-26, 5-2
setting maximum, 5-4

discontinuities of functions,
D-5

display

adjusting contrast, 1-1
X-register shown, 2-3
display format

affects integration, 8-2, 8-

6, 8-7
/ affects rounding, 4-18
/ default, B-4

periods and commas in,

1-23, A-1
/ sefting, 1-21, A-1
do if true, 14-6, 15-6

DSE, 14-18

E
clearing stack, 2-6

copying viewed variable,

13-15
duplicating numbers, 2-6

ending equations, 6—4, 6-
8, 13-7

evaluating equations, 6—
10, 6-11

separating numbers, 1-
17, 2-6

stack operation, 2-6
radians
(E] (exponent), 1-16

/ E in numbers, 1-15, 1-
22, A-1

ENG format, 1-22, See
also display format

entry cursor
backspacing, 1-4
meaning, 1-17
EQN annunciator

in equation list, 6-4, 6-7

in Program mode, 13-7
EQN LIST TOP, 6-7, F-2

equality equations, 6-9,

EQN



6-11, 7-1

equation list

adding fo, 64
displaying, 6-6
editing, 6-8

EQN annunciator, 6—4

in Equation mode, 6-3

operation summary, 6-3

Equation mode

backspacing, 1-4, 6-8

during program entry, 13-
7

leaving, 1-4, 6-3

shows equation list, 6-3

starting, 6-3, 67
equations

and fractions, 5-9

as applications, 17-1

base mode, 6-5, 6-11,
13-25

checksums, 6-19, 13-7,
13-24

compared to ALG, 13-4
compared to RPN, 13-4

controlling evaluation, 14-
11

deleting, 1-5, 6-9

deleting in programs, 13-
20

displaying, 6-6

displaying in programs,
13-16, 13-18, 14-11

editing, 1-4, 6-8

editing in programs, 13-7,

13-20
entering, 6-4, 6-8

entering in programs, 13-

7

evaluating, 6-10, 6-11,
6-12,7-7, 13-4, 14-11

EQN functions, 6-5, 6-16, G-1

in programs, 13-4, 13-7,
13-24, 14-11

integrating, 8-2
lengths, 6-19, 13-7, B-2

/ list of. See equation list

long, 6-7

memory in, 13-16
multiple roots, 7-9
no root, 7-8
numbers in, 6-5

numeric value of, 6-10,
6-11,7-1,7-7, 13-4

operation summary, 6-3

/ parentheses, 6-5, 6-6, 6-
15

precedence of operators,
6-14

ALG prompt for values, 6-11,
6-13

RPN
prompting in programs,
14-11, 15-1, 15-8

roots, 7-1

scrolling, 6-7, 13-7, 13-
16

solving, 7-1, D-1
stack usage, 6-11

storing variable value, 6-
12

syntax, 6-14, 13-16

TVM equation, 17-1

TVM



types of, 6-9

uses, 6-1

variables in, 6-3, 7-1
with (1)/()), 14-23
error messages, F-1
errors

clearing, 1-4
correcting, 2-8, F-1

estimation (statistical), 12—

8, 16-1

executing programs, 13—
10

exponential curve fitting,

16-1

exponential functions, 1-

16, 4-1, 9-3, C-5

exponents of ten, 1-15,

1-16

expression equations, 6—
10, 6-11, 7-1

F

FN. See integration

not programmable, 5-10

toggles display mode, 5-
1, A-2

toggles flag, 14-9

factorial function, 4-15

financial calculations, 17—
1

FIX format, 1-21, See also
display format

flags

annunciators, 14-12
clearing, 14-12
default states, 14-9

/(J) equation evaluation, 14—
11

equation prompting, 14—
11

fraction display, 14-10
meanings, 14-9

( ) operations, 14-12
overflow, 14-9

sefting, 14-12

testing, 14-9, 14-12

unassigned, 14-9

flow diagrams, 14-2

10 / FN=
in programs, 15-6, 15-10

integrating programs, 15—
8

solving programs, 15-1

fractional-part function, 4—
17

Fraction—display mode

affects rounding, 5-8

affects VIEW, 13-15

sefting, 5-1, A-2

- fractions

accuracy indicator, 5-2,
- 5-3

and equations, 5-9

and programs, 5-10, 13-
15, 14-9

denominators, 1-26, 5-4,
FIX / 14-10, 14-14

displaying, 5-2, 5-4, A-2

VIEW



flags, 14-9

formats, 5-6

not statistics registers, 5-2
reducing, 5-2, 5-6
rounding, 5-8

round-off, 5-8

setting format, 5-6, 14—
10, 14-14

typing, 1-26

functions

in equations, 6-5, 6-16
list of, G-1

names in display, 13-8
nonprogrammable, 13-24
real-number, 4-1

single argument, 1-18, 2—
9

two argument, 1-19, 2-9,
9-3

future balance (finance),

17-1

G

GT1O

finds PRGM TOP, 13-4,
13-21, 14-6

finds program labels, 13-
10, 13-22, 14-5

finds program lines, 13-
22, 14-5

gamma function, 4-15
go to. See GTO

grads (angle units), 4-4,
A-2

Grandma Hinkle, 12-7
Greatest integer, 4-18

grouped standard

PRGM TOP

gamma

) grads

deviation, 16-18
GTO, 14-4, 14-17

guesses (for SOLVE), 7-2,
7-7,7-8,7-12, 15-6

H

help about calculator, A-1
HEX annunciator, 11-1
hex numbers. See numbers
arithmetic, 11-4
converting to, 11-2

range of, 11-7

typing, 11-1

hexadecimal numbers. See
hex numbers

Horner's method, 13-26

humidity limits for
calculator, A-2

hyperbolic functions, 4-6,
C-6

|
i, 3-9, 14-20
(i), 14-20, 14-21, 14-23

imaginary part (complex
numbers), 9-1, C-8

indirect addressing, 14~
20, 14-21, 14-23

INPUT
always prompts, 14-11

entering program data,

13-12

in integration programs,

15-8
in SOLVE programs, 15-2
responding to, 13-14

infeger—part function, 4—

HEX

.hex

hex

SOLVE
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integration

accuracy, 8-2, 8-6, E-1
difficult functions, E-2, E-7

display format, 8-2, 8-6,
8-7

evaluating programs, 15—
7

how it works, E-1
in programs, 15-10

limits of, 8-2, 15-8, C-8,
E-7

memory usage, 8-2
purpose, 8-1

restrictions, 15-11

results on stack, 8-2, 8-6
stopping, 8-2, 15-8
subintervals, E-7

time required, 8-6, E-7

transforming variables, E-

9

uncertainty of result, 8-2,
8-6, E-2

using, 8-2, C-8

variable of, 8-2, C-8

intercept (curve-fit), 12-8,
16-1

interest (finance), 17-3
intermediate results, 2—12
inverse function, 9-3

inverse hyperbolic
functions, 4-6

inverse trigonometric
functions, 4-4, C-6

inverse-normal distribution,

16-11

ISG, 14-18

J
i, 3-9, 14-20, 14-21

(i), 14-20

K

keys

alpha, 1-3
letters, 1-3

shifted, 1-3

L

LAST X register, 2-8, B-6
LASTx function, 2-8
lender (finance), 17-1
length conversions, 4-14
letter keys, 1-3

limits of integration, 8-2,
15-8, C-8

linear regression

(estimation), 12-8, 16-1

logarithmic curve fitting,
16-1

logarithmic functions, 4-1,
9-3,C-5

logic

AND, 11-4
NAND, 11-4
NOR, 11-4
NOT, 11-4
OR, 11-4

XOR, 11-4

LAST X
LAST X
)
/
« )
AND



loop counter, 14-18, 14-
23

looping, 14-16, 14-17

t ukasiewicz, 2-1

M

program catalog, 1-28,
13-22

reviews memory, 1-28
variable catalog, 1-28
mantissa, 1-25

mass conversions, 4—14
math

complex-number, 9-1
general procedure, 1-18
infermediate results, 2-12
long calculations, 2-12
order of calculation, 2-14
real-number, 4-1

stack operation, 2-5, 9-2
maximum of function, D-8

mean menu, 12-4

means (statistics)
calculating, 12-4

normal distribution, 16-11
memory

amount available, 1-28

clearing, 1-5, 1-29, A-1,
A-4, B-1, B-3

clearing equations, 6-9

clearing programs, 1-28,
13-6, 13-22

clearing statistics registers,

12-2

clearing variables, 1-28

full, A-1

maintained while off, 1-1
programs, 13-21, B-2
size, 1-28, B-1

stack, 2-1

usage, B-1

MEMORY CLEAR, A-4, B-
3, F-3

MEMORY FULL, B-1, F-3
menu keys, 1-6

menus

example of using, 1-8
general operation, 1-6
leaving, 1-4, 1-8

list of, 1-6

messages

clearing, 1-4

displaying, 13-16, 13-18
in equations, 13-16
responding to, 1-27, F-1
summary of, F-1
minimum of function, D-8

modes. See angular mode,
base mode, Equation
mode, Fraction—display
mode, Program—entry
mode

MODES menu
angular mode, 4-4
money (finance), 17-1

multiplication,dividision,
10-2

MODES



N

negative numbers, 1-15,

9-3, 11-6

nested routines, 14-2, 15—
11

normal distribution, 16-11

numbers. See binary
numbers, hex numbers,
octal numbers, variables

bases, 10-1, 13-25

changing sign of, 1-15,
9-3

clearing, 1-4, 1-5, 1-17
complex, 9-1

display format, 1-21, 11—
6

Ein, 1-15, A-1
editing, 1-4, 1-17
exchanging, 2-4
finding parts of, 4-17
fractions in, 1-26, 5-1
in equations, 6-5

in programs, 13-7

internal representation,

11-6

large and small, 1-15, 1-
17

negative, 1-15, 9-3, 11—
6

performing arithmetic
calculations, 1-18

periods and commas in,

1-23, A-1

precision, D-13
prime, 17-7

range of, 1-17, 11-7

real, 4-1

10 -

recalling, 3-2

reusing, 2-6, 2-10
rounding, 4-18
showing all digits, 1-25
storing, 3-2

truncating, 11-6

typing, 1-15, 1-16, 11-1

o
(©fF, 1-1

OCT annunciator, 11-1,
11-4

octal numbers. See
numbers

arithmetic, 11-4
converting to, 11-2
range of, 11-7
typing, 11-1

one-variable statistics, 12—
2

overflow
flags, 14-9, F4

result of calculation, 1-17,

11-5

sefting response, 14-9, F-
4

testing occurrence, 14-9

P

n, A-2
parentheses

in arithmetic, 2-12

in equations, 6-5, 6-6, 6~
15

OCT



pause. See PSE
payment (finance), 17-1
percentage functions, 4-6

periods (in numbers), 1-

23, A-1

permutations, 4-15

Physics constants, 4-8

polar-to-rectangular
coordinate conversion, 4—

10, 9-5
poles of functions, D-6
polynomials, 13-26

population standard
deviations, 12-7

power annunciator, 1-1,

A-3
power curve fitting, 16-1

power functions, 1-17, 4—
2, 9-3

precedence (equation
operators), 6-14

precision (numbers), 1-25,

D-13

present value. See
financial calculations

PRGM TOP, 13-4, 13-7,
13-21, F-4

prime number generator,

17-7

probability

functions, 4-15

normal distribution, 16-11

program catalog, 1-28,
13-22

program labels

branching to, 14-2, 14-4,
14-16

checksums, 13-23

clearing, 13-6
duplicate, 13-6
entering, 13-4, 13-6
executing, 13-10

indirect addressing, 14-
20, 14-21, 14-23

moving to, 13-22
purpose, 13-4
typing name, 1-3
viewing, 13-22

program lines. See
programs

program names. See
program labels

program pointer, 13-6,
13-11, 13-19, 13-21,
B-4

Program-entry mode, 1-4,
13-6

programs. See program
labels

ALG operations, 13-4
base mode, 13-25

branching, 14-2, 14-4,
14-6, 14-16

calculations in, 13-13

calling routines, 14-1,
14-2

catalog of, 1-28, 13-22

checksums, 13-22, 13-
23, B-2

clearing, 13-6, 13-22,
13-23

clearing all, 13-6, 13-23
comparison tests, 14-7
conditional tests, 14-7,

14-9, 14-12, 14-17,
15-6

data input, 13-5, 13-13,

ALG

11 -



13-14

data output, 13-5, 13-14,
13-18

deleting, 1-28
deleting all, 1-5

deleting equations, 13-7,
13-20

deleting lines, 13-20
designing, 13-3, 14-1

editing, 1-4, 13-7, 13-
20

editing equations, 13-7,
13-20

entering, 13-6

equation evaluation, 14—
11

equation prompting, 14-
11

equations in, 13-4, 13-7
errors in, 13-19
executing, 13-10

flags, 14-9, 14-12

for integration, 15-7

for SOLVE, 15-1, D-1

fractions with, 5-8, 13—
15, 14-9

functions not allowed, 13-
24

indirect addressing, 14-
20, 14-21, 14-23

inserting lines, 13-6, 13-
20

interrupting, 13-19

lengths, 13-22, 13-23,
B-2

line numbers, 13-22

loop counter, 14-18

12 -

looping, 14-16, 14-17
memory usage, 13-22

messages in, 13-16, 13-
18

moving through, 13-11
not stopping, 13-18
numbers in, 13-7
pausing, 13-19
prompting for data, 13-12
purpose, 13-1
resuming, 13-16
return at end, 13-4
routines, 14-1

RPN operations, 13-4
running, 13-10

showing long number, 13-
7

stepping through, 13-11

stopping, 13-14, 13-16,
13-19

techniques, 14-1
testing, 13-11

SOLVE
using integration, 15-10

using SOLVE, 15-6

variables in, 13-12, 15—
1, 15-7

/ prompts
affect stack, 6-14, 13-14

clearing, 1-4, 6-14, 13-
15

equations, 6-13

INPUT, 1312, 13-14,
15-2, 15-8

programmed equations,
14-11, 15-1, 15-9

RPN

SOLVE



responding to, 6-13, 13-
14

showing hidden digits, 6-
14

PSE

pausing programs, 13-19,
15-10

preventing program stops,

14-11

Q

questions, A-1

quotient and remainder of
division, 4-2

R/S

ending prompts, 6-11, 6—
14,7-2,13-15

interrupting programs, 13-
19

resuming programs, 13-
16, 13-19

running programs, 13-22

stopping integration, 8-2,
15-8

stopping SOLVE, 7-8, 15-
1

Ry and R, 2-3, C-7
radians

angle unit, 4-4

angle units, A-2

converting to degrees, 4-
14

radix mark, A-1

random numbers, 4-15,

B4

RCL, 3-2, 13-14

RCL arithmetic, 3-7
real numbers
operations, 4-1

real part (complex
numbers), 9-1

recall arithmetic, 3-7

rectangular-to—polar
coordinate conversion, 4—

10, 9-5

regression (linear), 12-7,

16-1

resetting the calculator, A-
4, B-2

return (program). See
programs

Reverse Polish Notation.

See RPN

rolling the stack, 2-3, C-7
root functions, 4-3

roots. See SOLVE
checking, 7-7, D-3

in programs, 15-6
multiple, 7-9

none found, 7-8, D-8

of equations, 7-1

of programs, 15-1

SOLVE
rounding
fractions, 5-8, 13-18
radians numbers, 4-18

round-off
fractions, 5-8
integration, 8-6
SOLVE, D-13
statistics, 12-10
trig functions, 4-4

routines

RCL
)
(
)
( )
RPN
SOLVE

13 -



calling, 14-1
nesting, 14-2, 15-11
parts of programs, 14-1

RPN

compared to equations,

13-4
in programs, 13-4
origins, 2-1

running programs, 13-10

S

SHOW

equation checksums, 6—

19, B-2

equation lengths, 6-19, B-
2

number digits, 1-25, 13-7

program checksums, 13-
22, B-2

program lengths, 13-22,
B-2

prompt digits, 6-14
(SPACE], 14-14

sample standard
deviations, 12-6

SCl format. See display
format

in programs, 13-7
sefting, 1-22
scrolling

binary numbers, 11-8

equations, 6-7, 13-7,
13-16

seed (random number), 4—

15

self—test (calculator), A-5

14 -

shift keys, 1-3

sign (of numbers), 1-15,
9-3, 11-6

sign conventions (finance),

17-1
Sign value, 4-17

sine (trig), 4-4, 9-3, A-2,
C-6

single-step execution, 13-

11

slope (curve-fit), 12-8,
16-1

SOLVE
checking results, 7-7, D-3
discontinuity, D-5

evaluating equations, 7-1,
7-7

evaluating programs, 15—

2

flat regions, D-8

how it works, 7-7, D-1
in programs, 15-6

initial guesses, 7-2, 7-7,
7-8,7-12, 15-6

minimum or maximum, D-

8
multiple roots, 7-9
no restrictions, 15-11

no root found, 7-8, 15-6,
D-8

pole, D-6
purpose, 7-1

results on stack, 7-2, 7-7,
D-3

resuming, 15-1
round—off, D-13

stopping, 7-2, 7-8



using, 7-1
stack. See stack lift

affected by prompts, 6-
14, 13-14

complex numbers, 9-2
effect of [ENTER), 2-6
equation usage, 6-11

exchanging with variables,
3-8

exchanging X and Y, 2-4
filling with constant, 2-7
long calculations, 2-12
operation, 2-1, 2-5, 9-2

program calculations, 13-
14

program input, 13-12
program output, 13-12
purpose, 2-1, 2-2
registers, 2-1
reviewing, 2-3, C-7
rolling, 2-3, C-7

separate from variables,
3-2

size limit, 2-4, 9-2

unaffected by VIEW, 13-
15

stack lift. See stack
default state, B—4
disabling, B-4
enabling, B-4

not affecting, B-5
operation, 2-5
standard deviations
calculating, 12-6, 12-7

grouped data, 16-18

ENTER

VIEW

normal distribution, 16-11

standard-deviation menu,

12-6, 12-7

statistical data. See
statistics registers

clearing, 1-5, 12-2
correcting, 12-2
entering, 12-1
initializing, 12-2
one—variable, 12-2
precision, 12-10

sums of variables, 12-11
two—variable, 12-2
statistics

calculating, 12-4

curve fitting, 12-8, 16-1
distributions, 16-11
grouped data, 16-18
one—variable data, 12-2
operations, 12-1
two-variable data, 12-2

statistics menus, 12-1,
12-4

statistics registers. See
statistical data

accessing, 12-12
clearing, 1-5, 12-2

contain summations, 12-1,

12-11, 12-12
correcting data, 12-2
initializing, 12-2

no fractions, 5-2
viewing, 12-11

STO, 3-2, 13-12

STO arithmetic, 3-6

15 -

STO



STOP, 13-19
storage arithmetic, 3-6

subroutines. See routines

sums of statistical
variables, 12-11

syntax (equations), 614,
6-19, 13-16

T

tangent (irig), 4-4, 9-3,
A-2, C-6

temperatures

converting units, 4-14
limits for calculator, A-2
test menus, 14-7

testing the calculator, A-4,
A-5

time formats, 4-13
time value of money, 17-1
T-register, 2-5

trigonometric functions, 4-

4,9-3,C-6
troubleshooting, A-4, A-5
turning on and off, 1-1
TVM, 17-1

twos complement, 11-4,
11-6

two-variable statistics, 12—
2

U

uncertainty (integration),
8-2, 8-6

units conversions, 4-14

16 -

\'J

variable catalog, 1-28, 3-
4

variables

accessing stack register
contents, B—7

arithmetic inside, 3-6
catalog of, 1-28, 3-4
clearing, 1-28
clearing all, 1-5

clearing while viewing,

13-15
exchanging with X, 3-8
in equations, 6-3, 7-1

in programs, 13-12, 15—
1, 15-7

indirect addressing, 14-
20, 14-21

names, 3-1
number storage, 3-1

of integration, 8-2, 15-7,
C-8

polynomials, 13-26
program input, 13-14

program output, 13-15,
13-18

recalling, 3-2, 3-4
separate from stack, 3-2
showing all digits, 13-15

solving for, 7-1, 15-1,
15-6, D-1

storing, 3-2

storing from equation, 6-
12

typing name, 1-3

viewing, 3-4, 13-15, 13-
18



vectors
absolute value, 10-3
addition,subtraction, 10-1

angle between two
vectors, 10-5

coordinate conversions, 4—

12, 9-5
creating vectors from
variables or registers, 10—

8

cross product, 17-11
dot product, 10-4

in equation, 10-6
in program, 10-7
VIEW

displaying program data,
13-15, 13-18, 15-6

displaying variables, 3-4
no stack effect, 13-15
stopping programs, 13-15

volume conversions, 4-14

w

weight conversions, 4-14
weighted means, 12-4

windows (binary numbers),

11-8

X

XEQ

evaluating equations, 6—
10, 6-12

running programs, 13-10,

13-22

X ROOT arguments, 6-17
X-register

affected by prompts, 6-14

arithmetic with variables,
3-6

clearing, 1-5, 2-3, 2-7

clearing in programs, 13-
7

displayed, 2-3

during programs pause,
13-19

exchanging with variables,
3-8

exchanging with Y, 2-4
not clearing, 2-5

part of stack, 2-1
testing, 14-7

unaffected by VIEW, 13-
15

ROOT X

VIEW

17 -
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